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Section type: Online
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Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 99836795
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9983671731 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term in the same way as the second term is related to the first term.

Liver : Human body : Motor : ?

Options:
1. v+ Fan

7 % Tape

3. = Coll

A % Wings

Question Number : 1 Question Id : 9983671731 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 fowed & 907 Y S A o & 3H gER ¥ FEfod ¢ W IER ¥ gEU U g U ¥
Hefee 2l

TFd : AT N{T : AT ?

Options:

1. v Ga&T

2 & G



Question Number : 2 Question Id : 9983671732 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Select the number that is related to the third mimber in the same way as the second number is related to the first term.

17:39: 297
Options:

1. = 64

2. 63

3. & 67

4 = 71

Question Number : 2 Question Id : 9983671732 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 HEAT F 9U4 F FA ST T § 3 9E §EOd § A9 HY &I gger §Edl ¥ HEUT g

17 : 88228 2
Options:

1. = 64

2. v 63



Question Number : 3 Question Id : 9983671733 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the odd word pair from the given options.
Options:
1. = Pen : Paper

? ® Needle: Cloth

3. % Brush: Canvas

4 « Shovel : Water

Question Number : 3 Question Id : 9983671733 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few av Reredt & & Bww/ 379 g IoF F T

Options:

1, &« FoH : FEH
7. % -‘Eaé: Ra2

3. % §I: HAGH



Question Number : 4 Question Id : 9983671734 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A group of three interrelated mumbers is given. Select the number from the options that is similar to the given numbers

and hence belongs to the same group.

295312387
Options:

1. = 4

i

2. 47

t.[:.
4
n
—]

Question Number : 4 Question Id : 9983671734 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

I e TEmE = Ay I & S 3w F vs g ¥ wefog g fow e fwedt F & 3w e
F TIS F AN 57 TEAHT ¥ TG @A ¢ 3R W FROT W $H THE F G AT A THA g

29 : 31 : 37
Options:

T. = 45
2.« 47



Question Number : 5 Question Id : 9983671735 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the same as Hens. Ducks and Crows?
Options:

1. » Dolphin
2w Jelly fish
3 o Eagle

4 % Birds

Question Number : 5 Question Id : 9983671735 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

frafof@a & @ #ia @ fFwe J&ft, sqw AR Fia F 7o 22

Options:
1. = siewd
2. STk

Question Number : 6 Question Id : 9983671736 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Identify the odd word pair from the given options.
Options:
1. = Create : Destroy

2 w lgnore: Notice

3. % Initial : Final

4 v Vacant : Empty

Question Number : 6 Question Id : 9983671736 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e arv Reedt & @ Aww / 997 we T7H F TEIE

Options:

1. % &I : 75

2 w TWHEAELCHA G

3. « e : A=

Question Number : 7 Question Id : 9983671737 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the odd number pair from the given options.
Options:
T. w 3:9



Question Number : 7 Question Id : 9983671737 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few v Rwedt 7 & Rww / 3977 =T TIH F 9g==

Options:

T & 3-8
5 & 8o
3. = 525
4 ¢ 6:216

Question Number : 8 Question Id : 9983671738 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
In the morning, Rashid was standing facing the East. He took a right turn and walked 15 m then he turned left and

walked 20 m. Which direction he is facing now?

Options:
1. + East

? # North



3. % South

4] % West

Question Number : 8 Question Id : 9983671738 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

vfE gog & o8 9F #1 3R Hg =F T U7 9% 916 ¢ o AR #gw #7156 m =en fw g e
73T A 20 m Fa| 3T 3 A7 Ow feew oA B2

Options:
1. v ®
2. u 3ol

Question Number : 9 Question Id : 9983671739 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Ram walks 20 m towards the South. Then he turns left and walks 30 m. Then he turns left and walks 20 m. Finally, he

turns right and walks 45 m. How far is he now from his starting point?

Options:

1. & 15m

? % 15km

3. ¢ 75m



75 km

e
%

Question Number : 9 Question Id : 9983671739 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

T FRaror ew # 20 m @A &1 $HS §1§ g AC q3AT ¢ AN 30 m TEAT g1 7€ R A1¢ Jar 7 AR
20 m =T g1 3T H, IF &% HR Fo5aT § AR 45 m TeAT §1 3T IF O AT g ¥ Fhaeh gy 2

Options:

1. = 15 m
2. % 15 km
3. & I5m
4. = 75 km

Question Number : 10 Question Id : 9983671740 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three different positions of the same cube are shown. Which number will be at the bottom if *5° is at the top?

Options:

T. w1

It

2.«



4 % 6

Question Number : 10 Question Id : 9983671740 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UF & O H J Herer-ere Fufaar TEw 7w #) Ife gew 5w F oY W g af s A9 (99 W)
Fi °r "Er g

2, @ 2

Question Number : 11 Question Id : 9983671741 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Six children A, B, C, D, E and F are standing in a line. F is standing second to the right of E and the immediate left of C.

B is between D and C. Who is standing at the left extreme?

Options:
1. & €
? w A



®
-,

4.

Question Number : 11 Question Id : 9983671741 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BETH A B CDEARF IR T @I F, EF a0 ¥ g0l ™A W ¢ d#X C F 7ds a8
FT @I B, DR C F &7 # T g O TEY 9% OXF HiT TET 2

Options:
1. » C
2. = A
3. « E
4, = D

Question Number : 12 Question Id : 9983671742 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S, T. U, V. X, Y and Z are sitting around a round table for group discussion. Y is sitting third to the right of Z and
between S and X. Z is sitting second to the right of U. V is sitting third to the left of X. Who is sitting to the right of X?

Options:
L. w T

d v Y

Question Number : 12 Question Id : 9983671742 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
STUVXYIRZFFAMF U EAMa AT FIRNANISE Y, ZF a0 § 0 F W
TS AR X F AT AT E Z, U F T & AL BIF W 3T g1 V, X & s & Aoy w1 oY e
gl X #r arfgar 3R Fier dar 87

Options:

1, © T
2. = U
3 & ¥
4. v Y

Question Number : 13 Question Id : 9983671743 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I.  Sahil is Salil’s brother.
II. Shrevya is the daughter of Shvam and the elder sister of Salil.
ITI. Sahil is the son of Shyam.

If the first two statements are true, the third statement is:
Options:

1. v Tmue

? % False

3 u May be true

4 % Uncertain

Question Number : 13 Question Id : 9983671743 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|. @rfger "fere &1 o915 2

1. 87 e $r 38 3t gfere $r 587 787 2
1. BfgeT 2TTH T T 2

IfE 9o & FUF T g, ar darET FUA t
Options:

1. v §T¢

2« HETE

3. x W<T @ HHaT 8

4. w» fdRor 72 fear S Fehar B

Question Number : 14 Question Id : 9983671744 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A farmer has 27 buffalos. All died except 7. How many was he left with?

Options:

1.5 0

2. 7

Question Number : 14 Question Id : 9983671744 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v e & 9w 27 SF 1 A ¥ 7 F ST aer 7ol Fr 7eg @ S g1 7 3Tk 0 e S
gTehr F=EN?
Options:



2. v 7
3 = 20
4 = 34

Question Number : 15 Question Id : 9983671745 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following are qualification requirements for a tech expert post in company Zeta.

The candidate must:
I. be an Engineering graduate with atleast 70% marks.
II. not less than 23 years and not more than 30 years of age on 1 July 2019.
ITI. have passed the selection test with at least 60% marks.

IV. willing to join immediately for training.
However, if a candidate fulfils the above mentioned criteria except:

i. Requirement (I) above, but he/she has appeared for the last semester examination and
obtained an aggregate of 65% marks in the previous semester. his‘her case may be referred
to the V.P. of the company.

ii. Requirement (II) above, his/her age is less than 23 years but he/she secured 80% marks in

graduation, the case may be referred to the General Manager of the company.
The details of a candidate are given with regards to his/her candidature. You have to read the
information provided and decide his/her status based on the conditions given above.
Rakshanda is an IT engineer who passed her graduation with 69% marks. After getting the
engineering degree, she has done MCA. She has cleared the selection test with 70% marks.

She is ready to join immediately. Her date of birth is 2 October 1993.

Options:



1. ® The candidate is to be selected

? « The candidate is not to be selected

3. # The case is referred to the V. P

/. » The case is referred to the General Manager

Question Number : 15 Question Id : 9983671745 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JTT FATHF TF FUAT H TFah [920wa 98 F v Fufm a=aw &=f@a 2
IFHICAT:

|. 70% 37T % HTY SARTNET =T+ &2

1.1 S[emg 2019 T 23 a9 & FH 3 30 I ¥ H#&F F 7
. 7 T FH 60% 37R F T ITF TUeT 30T FHr 2

IV. ST FRWTOT & R g % e dum al

grelifen, T g 3FAEAN 3NFd Aest # ¥ 7 #T Disa Tl AAEst H [ S &

i. R f&ar AT A=es (1), ofT F7 fow dRET & 9feT ¢ g ¢ AR 39w Pow see A g
65% 3k 9o forw &, A S/ ATH T F9AT & 3UreqeT (V.P.) F #ST T FeRaT £

i. F9T T ar AEE (1), 3HH 3H 23 a9 ¥ FH g, dfhd 384 TG® & 80% 3k weg v g, ar
TH ATHA F A F AFWGUF F TH S S FhAT 8

U IFHIEET T IFACENT F Ty H 3HFT &awer f&Tm 3w &1 e & 2 ST & ueer g AT
FIX &7 1% At & HWR 9T 3HE Tty v hyer o B

T8TET T HTEET ST &, el 69% 3o & WY TATGS 9T &har g1 SifeaneeT @ B gfae
FIA F 91 38 MCA TFam &1 38 70% 37ehr & T I 9408 917 #T gl
T Al T YF F & T AR g1 3EH SeRfafd 2 segaw 1993 7

Options:

1. « 3FAIGER F T4 fohdr ST =g

> o 3FARGER @ TS g A S g



3.« HIHE HI 3UETE (V.P) F UrH HT =T AR

4« FHA F FEGESF F ITH AT AT AT

Question Number : 16 Question Id : 9983671746 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given is a statement followed by two courses of action. Assuming the statement to be true, decide which of the given
courses of action logically follow(s) from the statement.

Statement:
Eating almonds leads to a sharp mind.

Courses of Action:

I, We should eat almonds every day.
IL. We should live on only almonds.
Options:

1. « OnlyIfollows.

2w OnlyII follows.

3. % BothIand II follow.

A % Either Ior II follows,

Question Number : 16 Question Id : 9983671746 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A TF FYA HR IEF FEOS & FREEA & T Fl FYH F T AGS gC, v 7 B & R
FEESAT H T HiA 6 Alfhe T F HYS F AT HLAT ¢

F:
FETH G ¥ feAmT 3 g9 g

FHEdrs:
. 8F g U 9187 @ =1iee|
Il. g5 Faer SIEAT T Sfad T TRT|

Options:



Faer | FFEIOT FIAT g

I Faer || 3THIOT T gl

g AT 1l Gt HTEOT S B

8 a0 ar | T |l 3FFEI0T FLT g

Question Number : 17 Question Id : 9983671747 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Read the given statement and conclusions carefully and decide which of the conclusions logically follow(s) from the
statement.

Statement:
Water pollution is big cause of stomach disease in metro cities.

Conclusions:

1. Government should insure supply of fresh water.
II. People should be trained to filter water before use.

Options:
1. » OnlyIfollows.

? « BothIand II follow.

3.« Either I or II follow.

4. % OnlyII follows.

Question Number : 17 Question Id : 9983671747 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rraram iR Tt S ama R Ik AT T F g o/ e & Ty aFs v T sua #=
HFEOT IS & [ FL gl

FU:
AT AR A AT TGUOT ST FH AR F T8 FROT T
forsy:

. TR T Tt 9T B ST giAfRaa S =g
Il. S=T T 9T & 399 T 95 fheet = & fow wiRfés fFar s =g

Options:
1« e | HEROT AT g

5 | 3R 2 HTEOT I E

3 TA] A I HFEIOT A E

4 A || FHFETOT HIA E

Question Number : 18 Question Id : 9983671748 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Read the given statement and conclusions carefully and decide which of the conclusions logically follow(s) from the
statement.

Statement:
A large number of college students have failed in the annual examination.
Conclusions:

I.  All students should be expelled from the college.

II.  Students should be counselled for the next exam.

Options:
1. » OnlyIfollows.



? % BothIandII follow.

3. % Either I or II follow.

4. » Only II follows.

Question Number : 18 Question Id : 9983671748 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et iR T ama R IR AT I F T I/ 39 & Ty aFs v F Fua F=

TN FIA § / FT 2

h¥ed:
T qitelT H Fia F OIF 957 G607 H TGS | £
sy

|. |sfr BTE FF o ¥ Teeifag st far s i
Il. 399Teir T8 & foIT orEr Fr FEgeer 1 JEr Fgw)

Options:

1 = Fael | IFFEOT LA gl

- L AR 1l ST IFEOT A E

3 T ar | T |l 3EI0T FLT g

B o Fael || IFHIUT FIT g

Question Number : 19 Question Id : 9983671749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following question consists of two sets of figures.

A, B. C and D constitute the problem set while 1, 2, 3 and 4 constitute the answer set. There is a definite relationship
between figures A and B, establish a similar relationship between figures C and D by selecting a suitable figure from the

answer set that would replace the question mark (?7) in figure D.

Problem Fig.

G2 WQ| 2

Answer Fig.

R S12|®

1. % 1

|

2. %

3.+3

4. % 4

Question Number : 19 Question Id : 9983671749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



SRRE T & F a3 fr e §

A, B, C 3T D B¢ wed 1 @A & yaAfees sxa & ==/ 1, 2, 3 3t 4 357 o7 gas &
fefa w81 B9 A 3l B, % @I ve AfYag d9u g, fGw 717 3ct & ¥ 7 ¥ 39gFa Ry &

IE & S B D F 9T BEa (2) # ww & ¥5 3R C 3R D F &9 off v v @ wEw wifm
Exdl

S FTFR:
G2 2
3cad i
RS2 |\
Option]S: 2 3 4
1; & 1
2. = 2
3. v 3
4, = 4

Question Number : 20 Question Id : 9983671750 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The below question consists of four problem figures marked A, B. C and D and four answer figures marked 1. 2, 3 and

4. Select a figure from amongst the answer figures, that will continue the series established by the four problem figures.

5
g

Problem Fig.

S

A
Answer Fig.

(Z

1
Options:

1. = 1

5

1@ Bl

18 -

B

2.«

Question Number : 20 Question Id : 9983671750 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

drr few v g F A, B, C 3T D ¥T W A1 §HE F AafATcT g § IEF 1, 2, 3 3 4 3+;w
I AT F T g I SR s R Rrar Bt F ¥ 3w By o gu9 Y I 9w e e &
& 1% sp@er F S @

Sl 23| I8 | &2] 2
SN

Options:
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Question Number : 21 Question Id : 9983671751 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many triangles are in the figure?

Options:
1. = 16

2.« 17

Question Number : 21 Question Id : 9983671751 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fow 7w o & o foae P B2

Options:

T. » 18

2. v 17



Question Number : 22 Question Id : 9983671752 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the figure that is different from the other three.

Options:

Question Number : 22 Question Id : 9983671752 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 & &1 =09 #¢ 3 359 d9 § 39T g

Options:



<]

LX)
4. o 3(“—%?31

'
%

Question Number : 23 Question Id : 9983671753 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four letter clusters have been given, out of which three are alike in some manner and one is different.
Select the odd one.

Options:
1. « BDFH

7 % HILN

3. % JLNP

A « FHIK



Question Number : 23 Question Id : 9983671753 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I e WA fow 1w §, A e ar Rl vew & wAw € A ves aifasat @ areer 31 Rww / aEa
F TAF

Options:
1. & BDEH
2 % HILN
3 % JLNP
4. v FHIK

Question Number : 24 Question Id : 9983671754 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four numbers are given out of which the three numbers bear a certain common relationship. Select the number that is
different from others.
Options:

1'\,7 32

2 % 196

Question Number : 24 Question Id : 9983671754 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR TEIT & 2 ¥, wd ¥ A vewst & 69 vs @Rvg gwew w9y §) 98 e 9 S g o
3T &



Options:

1. v 82
2 % 196
3. = 256
4. = 324

Question Number : 25 Question Id : 9983671755 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the Venn diagram that best represents the given set of classes:

INSECTS; FLEAS, FLIES

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:



e

Question Number : 25 Question Id : 9983671755 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3H 39 INE & I97 F{ JAT 9901 & 8T T B # 99 H=0T Taaeed il &

INSECTS, FLEAS, FLIES

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1.

2.

e

Question Number : 26 Question Id : 9983671756 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the Venn diagram that best represents the given set of classes:

RATS, CATS, GOATS

Options:

Oc

e

Question Number : 26 Question Id : 9983671756 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T 39 T & I3 F{ JAT 9901 & 8T 9T B¢ & 99 3=07 o« &l &

Options:



Question Number : 27 Question Id : 9983671757 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Ram is the son of Mohan and brother of Ramesh. Shreya is the daughter of Shweta and sister of Ram. How Shweta is

related to Ram?
Options:

1. = Sister

2 w Daughter



3.« Mother

4 = Wife

Question Number : 27 Question Id : 9983671757 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TH AT &1 927 3T T3 &7 a7 g1 AT, 9397 &7 92r 3T 77 fr 984 g1 8391 F1 qH

¥ =T TET 7
Options:

1. = dgd
2 x &
3. v &I

4. = €Er

Question Number : 28 Question Id : 9983671758 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Read the given information and answer the question.

A — B means A is the mother of B

A S B means A is the sisterof B

A (@ B means A is the father of B

A =B means A isthe sonof B

IfR=SSOSP-AQ. then how is P related to R?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:



1. Daughter

7 Son
3. Aunt

4. Niece

Question Number : 28 Question Id : 9983671758 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fr=ofe s=er 98 3t foT =1 997 #7 3= &
A-BFR AT EFA BHFATE
ASBaTgFA BHFragae
A@BFRFATETFA BT Rar &

A=BHFRITEFABFITE
ITR=S%0%P-QE arP, RYT FF 55X ¥ g &7

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. &

2. @

3. ==

4, &



Question Number : 29 Question Id : 9983671759 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code TYPHOID written as VXRGQHFE. How is ANAEMIA written in that code?
Options:
1. # COHCMCE

9 % CMCDOHI

3. % CMCDOHE

4. v CMCDOHC

Question Number : 29 Question Id : 9983671759 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ey Trenfya s & TYPHOID & VXRGQHF Tr@r Smar g1 =6t &3 3 ANAEMIA &7 &3 orEr

ATTT?
Options:

1. « COHCMCE

2 % CMCDOHI

3. »« CMCDOHE

4. v+ CMCDOHC

Question Number : 30 Question Id : 9983671760 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In certain code CLOCK is written as 44, How will TOUCH be written in that code?

Options:



bb
®

e
i

Question Number : 30 Question Id : 9983671760 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e fefta #15 CLOCK #r 44 & &9 # for@r =i g, 587 15 # TOUCH & & forgr sreem?

Options:

1. = 35
2. = 66
3. v 67
4. = 45

Question Number : 31 Question Id : 9983671761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code SWEET written as WSETE. How is SALTY written in that code?
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al

candidates.
Options:

1. ASLTY



9 ASLYT

3. ASTYL

A, ASYLT

Question Number : 31 Question Id : 9983671761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ot T =i & SWEET & WSETE & &7 H @ Jar g1 s8r &5 & SALTY &0
Fo @ s

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.

Options:
1. ASLTY
2 ASLYT
3. ASTYL
4. ASYLT

Question Number : 32 Question Id : 9983671762 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Sixteen teams take part in a cricket tournament. Each one has to play every other one. How many games must they play

in total?
Options:

1. = 64



2 120

196

i
%

4 = 9l

Question Number : 32 Question Id : 9983671762 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v e g # T dieg aF R A 31 & vw 3R F A = weht & & wry @ g1 ar
For THemat fraa @5 @er S

Options:

1. = 64
2.« 120
3. 0= 196
4 = 91

Question Number : 33 Question Id : 9983671763 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Which of the following pairs of signs, when their positions are interchanged. will correctly solve the given mathematical

equation?

26+13—-32+14X6 =054
Options:

1. & +~andx

?  +and+



3. % +andx

4 % +and-

Question Number : 33 Question Id : 9983671763 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=T 7 ¥ Fi7 o Bes, 305 ftar w1 55 B 3= w, &r 7v «fodT g8 #=+r
TET 2T T g FE7
264+13—32+-14%6 =54

Options:

1.« =3k

2_ v +3-ﬁ1+

Question Number : 34 Question Id : 9983671764 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Which of the following pairs of numbers and signs, when their positions are interchanged, will correctly solve the given

mathematical equation?

55 T0x 12414 =88
Options:
1. = Sand 12; +and —

? « 10and5;—and =



3 % 14 and 7; % and +

4 % Sand7;+and-—

Question Number : 34 Question Id : 9983671764 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T=f@a # ¥ &9 O g=aw 3R fea, 396 TuEa wew 9ga G 3= @, e v ofvaw
THSIUT FT Tar &7 T gF HE?
510X 12+14—7 =88

Options:

1. » 53k12; + 3k -

2 » 103R5; - 3R x

3.« 143R7; x 3R+

4 = 53T 7+ 3T -

Question Number : 35 Question Id : 9983671765 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four letter clusters have been given, out of which three are alike in some manner and one is different.
Select the odd one.
Options:

1. « AZYB

1

? % DWVE



3. ¢ IPKR

EVUEF

e
%

Question Number : 35 Question Id : 9983671765 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T e THE fow w1w §, A e ar R gew & maw € A ves aifesat @ arenr 31 Rww / a@e
F =TI H

Options:
1 x AZYB
2 % DWVE
3. v IPKR
4 % EVUF

Question Number : 36 Question Id : 9983671766 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words have been given. out of which three are alike in some manner and one is different. Select the odd one.
Options:
1. & Cube

Sphere

8

2

Cone

-
%



4' « Kite

Question Number : 36 Question Id : 9983671766 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

7 BT 9T = eeeT H ¥, J9 T a1 O 9 ¥ §A g 3T UF e 3T g1 AeH [ 39 e
FT TTT F

Options:
1. = o=
2. = e
3 = %iﬂ;
4, v AT

Question Number : 37 Question Id : 9983671767 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four figures have been given below, out of which three are alike in some manner and one is different.
Select the odd one.

Answer Fig.

Options:

1.« 2



Question Number : 37 Question Id : 9983671767 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR =y &= for o &, 39 T o B 99 & 5 § 3R s afear ¥ e g AR 99 &
TTT FI

3cal AT

I 2 3 4
Options:
1. v 2

Question Number : 38 Question Id : 9983671768 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will correctly replace the question mark (?) in the series.

DW, FU, HS, JQ, ?
Options:
1. + LO



OL

-2
&

LE

i
%

PO

e
%

Question Number : 38 Question Id : 9983671768 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

37 FeT & 799 F S 4T & wF e (?) F TS F IA H FEH grem
DW, FU, HS, JQ, ?

Options:

1. v LO
2. = OL
3. = LP
4. » PO

Question Number : 39 Question Id : 9983671769 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will correctly replace the question mark (?) in the series.

13, 19, 31,49, 7
Options:

1. 64

&



bb.
®

1
(=)

Question Number : 39 Question Id : 9983671769 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

30 e &1 99 F S g@en § 9eF B (7) & T o 9 H FEH gem|

13, 19, 31, 49, ?

Options:

1. = 64
2. v 73
3. x 75
4 = 76

Question Number : 40 Question Id : 9983671770 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will correctly replace the question mark (?) in the series.

6,10, 14,22, 30. 42,7
Options:

1.« 54



Question Number : 40 Question Id : 9983671770 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

37 FeT & =9 & S 4T & T A RESA (?) F TS F IA H FEH grem

6, 10, 14, 22, 30, 42, ?

Options:
1. v 54
2. = 60
3. x 56
4. = 64
General Awarenessl
Group Number : 3
Group Id: 99836749
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No

Revisit allowed for group Instructions? : Yes



Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness1

Section Id : 99836755

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 99836797
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9983671771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The amount of oxygen required by bacteria to disintegrate organic matter in certain volume of sample of water is called
BOD. The full form of BOD is:
Options:

1. » Biological Oxygen Demand

? . Biochemical Oxygen Demand

3. # Biochemical Ozone Demand

4. » Biological Ozone Demand

Question Number : 41 Question Id : 9983671771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T Fr AT AT ST 7S H Feiae ey B HIIed Fa & [T SHaT] GaRT ¥EuE dEse
& A=, IS Farr gl IS F O AH &

Options:

1. = S ST AT



2. v FEEAG HiFHSS HJ6T

b [ S Y H
3w SEUHEIAS ST AE

Question Number : 42 Question Id : 9983671772 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The fuel obtained from plastic waste has high octane rating and no lead. The name given to such fuel is:
Options:
1. ® White Fuel

? % Blue Fuel

3. « Green Fuel

4 % RedFuel

Question Number : 42 Question Id : 9983671772 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THTTECSR IS § Wit $U T e e 3= 2T & 3 SHe ©rET 78T g Uy Sud & T

AT JTem ATH &

Options:

1 « 9dsud

2y Frem A



3 o B EuR

4, » N EA

Question Number : 43 Question Id : 9983671773 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following is a viable mechanism for treating soils contaminated with oils (Petroleum Hydrocarbons)?
Options:

1. v Bioremediation

2  Biopetrification

3 Eutrophication

Bioemulsification

<,

8

Question Number : 43 Question Id : 9983671773 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ae (Y gsgieEs) ¥ gtT HaT & 39ER &g Aeafaf@a # & Fi9 ve aeeie gomer 82

Options:

1 o SEFEReT (FARTE)




A w SEUEEEOT (STEEATCAGE)

Question Number : 44 Question Id : 9983671774 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following gases is NOT a direct greenhouse gas?
Options:

1. « Carbon monoxide
? # Methane
3. = Carbon dioxide

/A % Nitrous oxide

Question Number : 44 Question Id : 9983671774 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g § ¥ 7 9 39, v ggs7 Fiagzy g a6 g2
Options:

1. o & AAHFEES

2.« FHF

4, % ELH HIFEEE

Question Number : 45 Question Id : 9983671775 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
In May 2019. Former ISRO Chairman was conferred with the highest civilian award of France ‘Chevalier de

1'Ordre national de la Legion d'Honneur’ for his contribution to Indo-France space cooperation.
Options:

1. v+ A S Kiran Kumar

? % K Radhakrishnan

3. # G Madhavan Nair

Dr. Krishaswamy Kasturirangan

4.

&

Question Number : 45 Question Id : 9983671775 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT 2019 &, U FEI HoUET F HRT-FE FINET §gaRT # 3% I9E F &0 wE 1 gafz=
A& TEATT ‘Chevalier de 'Ordre national de la Legion d'Honneur’ 9&r= f&sam #1am|
Options:

3, « S ATIEA AT

A w S FOREAH FEUE

Question Number : 46 Question Id : 9983671776 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to data sourced from Directorate General of Commercial Intelligence and Statistics, which country has
become India’s top crude oil supplier for the fiscal year 2018-19?

Options:



1. = Qatar

? « Iraq

3. UAE

:

A % Iran

Question Number : 46 Question Id : 9983671776 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SOIfeT® T UF ATEah! Aeleiees 8 Fed Awsl & 38R, Feda a9 2018-19 7 Hia &1 &
AR HT MY F=ar Ja Afciehar &= T1aT?

Options:
1. & T
2., v HIF

Question Number : 47 Question Id : 9983671777 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following won an Oscar in the ‘Best Actor in a Leading Role’ category for the year 20187
Options:
1. » Denzel Washington



2 w Daniel Kaluuya

3. % Timothée Chalamet

4. » Gary Oldman

Question Number : 47 Question Id : 9983671777 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fafofta 7 & s av 2018 & 'wq@ siffe & wafcan afdear Soft &7 e R Sian?
Options:

1. « S FRETRS

sferzrer Fepar

A
a}

Question Number : 48 Question Id : 9983671778 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Which Indian sportswoman was ranked i
20187

Options:
1. = Sakshi Malik

on Forbes® list of highest earning sportswomen in the world in the year

? % Saina Nehwal



3.« PV Sindhu

4. » Mithali Raj

Question Number : 48 Question Id : 9983671778 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

¥ 2018 # form sl wfger Rardr F feg fr Tl FAE aeh Afgen Benf3ar Fr wrea & T=3
H 747 T g ar?
Options:

1. = @l #@fers

2« TIEAT AT

3, v TARY
A, » THaer I

Question Number : 49 Question Id : 9983671779 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Indian king was given the title ‘Pivadassi*?
Options:
1. «+ Ashoka

2 % Shivaji

3 » Samudragupta



4. » SriGupta

Question Number : 49 Question Id : 9983671779 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foFa s Te #r Raerdy # 39S & 75 o

Options:

1. v 3

2 % [REE
3. » HHaTd

Question Number : 50 Question Id : 9983671780 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
In 1946, what was the main proposal under the ‘Cabinet Mission Plan’ regarding the constitutional future of India?

Options:

1. + Formation of Indian Federation

? # Provincial self-rule

3 Provincial autonomy

Diarchy in provinces

4.

&

Question Number : 50 Question Id : 9983671780 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



1946 #, 8T & Fawllie sifosa & F9u # Fheie e o & aea A6 9&5a9 &id &1 91
Options:

1. v #RAT G & 754

2. w Hedg FE-0mET

3w Yedid F=Edcddr

4 x Tech H S AT

Question Number : 51 Question Id : 9983671781 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the first ruler of the Sayvid Dynasty in the Delhi sultanate?
Options:
1. ® Muhammad Shah

Alam Shah

-2
&

3. « Khizr Khan

4. % Bahlul Lodi

Question Number : 51 Question Id : 9983671781 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el Todad & TUE J90 &7 TUH oTHF i oaT?
Options:

1 « TG AW



> x HEH AR

SJ@EW
4« TEOE A

Question Number : 52 Question Id : 9983671782 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following was India’s first deputy prime minister?
Options:
1. # Lal Bahadur Shastri

? « Sardar Vallabhbhai Patel

3 Sarvepalli Radhakrishnan

A % Maulana Abul Kalam Azad

Question Number : 52 Question Id : 9983671782 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tafef@a # ¥ #i9, 979 7 9¥H7 39-9uFHST 917

Options:

1 = WWQM

2, TER TeaHds I



LY it
3. g dHed]l {IElpSUla

_ HieEr #9d FTH HTAE
4, = .

Question Number : 53 Question Id : 9983671783 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
In the Indian Parliament, all the important decisions are taken by the majority. How many types of majority are followed

in the Indian Parliament to pass a specific bill and motion?

Options:

Question Number : 53 Question Id : 9983671783 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Wmﬁ,mnﬁﬂﬁﬁﬁvwmﬁvm%@%ﬁ&wmaﬂtmm
mﬁ#ﬁ?mmﬁﬁmﬁmﬂ{#ﬂgﬂdﬂﬁﬂﬁwmﬁ?

Options:
1. » 2
2. v 4



Question Number : 54 Question Id : 9983671784 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What type of majority is required in Lok Sabha to remove the Vice-President?
Options:
1. « Simple majority

? % Special majority

3 Effective majority

Absolute majority

<,

&

Question Number : 54 Question Id : 9983671784 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

m-umﬁaﬁgmﬁr#ﬁmaﬁwmﬁﬁmm#agﬂaﬁmmﬁ?ﬁ%?

Options:

1. ¢ PESgH

5y DI OE

Question Number : 55 Question Id : 9983671785 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
Which of the following committees recommended the establishment of a three-tier Panchayati Raj system in India?

Options:
1. & Ashok Mehta Committee

? « Balwant Rai Mehta Committee

3 % L MSinghvi Committee

A % Narasimham Committee

Question Number : 55 Question Id : 9983671785 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 o g o@fa & ang 7 F-afig g=madr a1 gumelr dr wurgar S fawier i

Options:

1. « 370 Agar ®AfE

2, Fead TF Hgar @Al

3« T UH THgdr @Al

4 « "REgHA TG

Question Number : 56 Question Id : 9983671786 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which article of the Constitution of India contains the definition of a money bill?
Options:
1. « Article 110



? w Article 210
3 % Article 310

A = Article 410

Question Number : 56 Question Id : 9983671786 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT e & 57 aeete § o7 Rdws & aienie G mr &2

Options:

Ha=oc 110

1. » 7%

5 H@ﬁzzm

% H@ﬁzsm

% H@ﬁwmo

Question Number : 57 Question Id : 9983671787 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following features in the Constitution of India is borrowed from the Constitution of Japan?
Options:
1. » Five-year plans

? w Suspension of fundamental rights during emergency



3 . Functioning of Supreme court

4. % TUnion and state list

Question Number : 57 Question Id : 9983671787 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aaT @ieud S FeaaT # @ FiF O RBevar, s F gfeue o o e 22

Options:

1. % Y==dT W0

2w HUIGHIS & GHYT Alferer AR 71 Hesa

3 Tateg FAET H FEATOTET

Question Number : 58 Question Id : 9983671788 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following terms was added to the preamble of the Constitution of India by the Constitution (forty-second
amendment) Act. 19767
Options:

1. » Republic

? % Democratic

3 x Sovereign



4 « Secular

Question Number : 58 Question Id : 9983671788 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A= (FareigeT guye) ARfETE, 1976 @R aRET FfEuE & yeaEar § Reaela #§ @ S
T 2leg FET I14T?

Opions:
1. » ToRE
2« EhdiES:
3, x T

4, v TUfETE

Question Number : 59 Question Id : 9983671789 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where is the headquarters of FIFA (Federation of International Football Association) located?
Options:
1. » Washington DC. US

?  Zurich, Switzerland

3 x Brussels, Belgium

4. » Berlin, Germany

Question Number : 59 Question Id : 9983671789 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
BT (FSUA HTF STHAUAT Tedlol TRITACA) F AT Fal 10U 872
Options:

q  STREES 3, guE

w
%
(s ]|

4
al

Question Number : 60 Question Id : 9983671790 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

With which one of the following sports is the ‘Ezra Cup’ associated?
Options:
1. » Rugby

? « Polo

3. % DBaseball

/4 % Badminton

Question Number : 60 Question Id : 9983671790 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TH w9 Heafeied d ¥ e g9 ¥ gefg 87

Options:



Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

General Awareness?

4
99836750
0

0

No

No

0

20

No

Yes

0

0

General Awareness?

Section Id : 99836756
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number : 1
Sub-Section I1d: 99836798

Question Shuffling Allowed : Yes



Question Number : 61 Question Id : 9983671791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following is the correct set of years in which Brazil has won the Football (FIFA) World Cup?
Options:
1. « 1958. 1962, 1970. 1994, 2002

9w 1955,1966. 1970, 1994, 1999

3. = 1960, 1970, 1982, 1993, 2002

4. = 1958, 1965, 1982, 1994, 1999

Question Number : 61 Question Id : 9983671791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SISl G Geare (1) Freg & Sy 5= & ant v wer A fFeoide # § #la @1 g?
Options:

1. «» 1958, 1962, 1970, 1994, 2002

2 « 1955, 1966, 1970, 1994, 1999

3. % 1960, 1970, 1982, 1993, 2002

A« 1958, 1965, 1982, 1994, 1999

Question Number : 62 Question Id : 9983671792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following terms in Indian culture refers to a style of temple construction?

Options:



Pashikanti

(=Y
&

Vibuthi

-2
#®

3 Kalaripayattu

:

4. Panchayatan

Question Number : 62 Question Id : 9983671792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR Tpa § B & @ #i9 @ wse, v Aty BT & # e w2ar 27

Options:

1. » wefErar
2_ ] r\.
3 PORTHEE

Question Number : 63 Question Id : 9983671793 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following is considered as the highest form of ‘manodharma’ in Carnatic music?
Options:
1. ® Neraval



? . Ragam Thanam Pallavi

Kalpana Swara

3.

b

Raga Alapana

<,

:

Question Number : 63 Question Id : 9983671793 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TRl 7 ¥ 8, e 909 § 'FAuE &7 9= T559 3T AT 87

Options:

1. = oR0ge

2. v TETH 9=H Toodr

3. o« Hedal T

Question Number : 64 Question Id : 9983671794 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A type of curtain called ‘Thiraseela’ is used in which dance form in India?
Options:
1. » Kuchipudi

7w Odissi

3.« Kathakali



4 % Garba

Question Number : 64 Question Id : 9983671794 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR Fgeled I Tk TR H TREl, 9 H 58 Jcg T & 39917 Far Frar 87

Options:

SHi=rqsr

1_ #® o9 2

2w fEEr

Question Number : 65 Question Id : 9983671795 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which country is the source of the famous “Volga’ river?
Options:

1. + Russia

7 % Germany

3. % Finland

4 % Poland

Question Number : 65 Question Id : 9983671795 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



HIT TT g9, GFAE 'S FAEr F FiT 27

Options:
1. v ¥

2. % S
3. « Teels
4, » eI

Question Number : 66 Question Id : 9983671796 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which Indian state is the Hazaribagh Sanctuary located?
Options:
1. «+» JTharkhand

? % West Bengal

Odisha

o
%

Madhya Pradesh

>
%

Question Number : 66 Question Id : 9983671796 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FSANIETT 3UR0T 9 9Rdw U9 & g 82

Options:

1. v ¥RTE



4. « FET g

Question Number : 67 Question Id : 9983671797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The highest peak of the Aravalli Range is:
Options:
1. + Guru Shikar

? % Dilwara

3 u Achalgarh

Kumbhalgarh

4.

&

Question Number : 67 Question Id : 9983671797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IRl HTT H Fared @R g

Options:

T® T

1. ¢ 3

2y feorETeT



Question Number : 68 Question Id : 9983671798 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
‘When the economy develops qualitatively with modem technology and skills, the un-skilled workers lose their job. This

type of unemplovment is called:
Options:
1. » Disguised unemployment

Frictional unemployment

#

/il

Cyclical unemployment

&

3.

4.  Structural unemployment

Question Number : 68 Question Id : 9983671798 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

i SigdifFrdr v wlere & Wy adenaEdr H AUNcHS Ad g W, e siAe #r Atwiar
T Tt F| = wE & s mEEA

Options:

1. » T=Oe SUSIHT

2w A S



A~ TEATCHF SUSEHT

Question Number : 69 Question Id : 9983671799 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MUDRA Yojana was launched by Narendra Modi in 2015 for providing loans up to 10 lakh to non-corporate small and
micro enterprises. The full form of MUDRA is:

Options:
1. » Micro Units Development and Refinance Association

? . Micro Units Development and Refinance Agency
3 u Micro Units Development and Re-establishment Agency

4. » Macro Units Development and Refinance Agency

Question Number : 69 Question Id : 9983671799 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

r-Fefte o HR gaw 3eTa F 10 T TF F HOT &S A F O A AG @R 2015 F g
TS 9% T aT5| HqAT & 0 AH ¢

Options:

% AEF Iy SaeTHe U5 Romaw wmime

5 TR Iaew e v Remew TRl

5, FER IR S ts Rostfm o

4w HH FEEE FeuHT UT RowAw T



Question Number : 70 Question Id : 9983671800 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the second Demonetisation that happened in India in 1978. currency notes of which denomination were withdrawn?
Options:
1. = 100. 500, 1000

2 % 500, 2000, 10,000

50, 100, 500

-
%

4. « 1000, 5000. 10,000

Question Number : 70 Question Id : 9983671800 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

mﬁm?sﬁgcqﬁ?ﬁvﬁgaﬁwwﬁ,ﬁmmmmmﬁmmm
Options:

1 % 100, 500, 1000

2 & 500, 2000, 10,000

3 x 50, 100, 500

4. « 1000, 5000, 10,000

Question Number : 71 Question Id : 9983671801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which enzyme among the following helps in digestion of fats in the human body?

Options:



1. # Lactase

2  Lipase

3. # Urease

A = Ribose

Question Number : 71 Question Id : 9983671801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=fof@a & o 7 o taER, AT iR # Famst & 9= #® A7 #IaT 27

Options:

Question Number : 72 Question Id : 9983671802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Kwashiorkor and Marasmus are human diseases caused by the deficiency of;
Options:

1. & Vitamin A



? % Vitamin K

3.« Proteins

4 % VitaminB12

Question Number : 72 Question Id : 9983671802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FANIRER 3T ANTHg, F=fa@g fr F3 F FRoT @ T 3199 U9 2

Options:

1. = FRafd=a A
2 x [EafEs K
3 » e

4. % Te@a B12

Question Number : 73 Question Id : 9983671803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does an ‘Ondometer’ measure?
Options:

1. # Loudness of sound

2 w Intensity of light

3 Wavelengths of radio waves



4. » Tensile strength of a metal

Question Number : 73 Question Id : 9983671803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST ¥ FIT AT FGT 27

Options:

1. = e & Jgar

2 % WeRTer @ JreUTar

3 o BT FET F e

4. = 99 FT T geedl

Question Number : 74 Question Id : 9983671804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The branch of medicine which deals with the study of ageing process and diseases associated with ageing is called:
Options:
1. » Etymology

? . Gerontology
3 & Oncology

4. » Odontology

Question Number : 74 Question Id : 9983671804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



UG ST, TUT FAGSAT § HIOF a0 T FETAF L arell AN AT H el ST gl

Options:

i

[
1. = SUcHlcd 14 Al
I o

2 o FUEAS

4 S [
3. % HeRUT A

A w cdEee

Question Number : 75 Question Id : 9983671805 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following is NOT the name of a missile developed by India?

Options:
1. ® BrahMos-I
? % Shaurya

3. ® Pechora

4.« Narora

Question Number : 75 Question Id : 9983671805 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Faefla &7 @ w7 @1, 9Rg arr g v Basd & A a9 22

Options:

1, » TS




Question Number : 76 Question Id : 9983671806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ASILV-D4 is the name of a launch vehicle developed by ISRO, which carried SROSS-C2 satellite in 1994. The full form
of ASLV is:

Options:

1. » Augmented Satellite Launch Vehicle

? % Automatic Satellite Launch Vehicle
3. ® Aeronautic Satellite Launch Vehicle

4 % Audacious Satellite Launch Vehicle

Question Number : 76 Question Id : 9983671806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ASLV-D4, =33 ZarT g Te J8i90T Sig & ATH 8, Fr 1994 F SROSS-C2 399g &I o 7137 27|
ASLV & T AT §:

Options:

1 » HETHES HIAEET A e

2y ¥HEHRE WS W Fremel



3w UINANEH HTASE o= cgepel

4. « ¥EfETw deamse o e

Question Number : 77 Question Id : 9983671807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following is NOT the name of a research reactor developed in India?
Options:

1. & Cirus

Dhruva

2

&

Kamini

b

3.

4. » Nipuna

Question Number : 77 Question Id : 9983671807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FrE & @ 39 71, 979 § T 0 e NuF F A 76 37

Options:
1. = ¥EH
o I a9



Question Number : 78 Question Id : 9983671808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BRICS is an acronym for an association of five major emerging national economies? Which country is NOT a part of
BRICS?
Options:

1. # Brazil

? # Russia

India

3.

&

4. » Belgium

Question Number : 78 Question Id : 9983671808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ferw, o Y@ ST ey AT qait & WY T wierd a7 g e @ o, e @ e adt g2

Options:

Question Number : 79 Question Id : 9983671809 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
In which year was the World Trade Organization (WTO) established?

Options:
1. ¢ 1995

? % 1992
3. % 1990

4. % 1989

Question Number : 79 Question Id : 9983671809 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fores =aT9R HeTe= (WTO) 1 Furaar forg a¥ & 37

Options:

1. « 1995
D u 1992
3 % 1990
4 = 1989

Question Number : 80 Question Id : 9983671810 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where is the National Sugar Institute (INSI) located in India?
Options:
1. & Mysuru (Mysore)



2w Udaipur

3. # Lucknow

4. » Kanpur

Question Number : 80 Question Id : 9983671810 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR H T R A= (NSI) Fg1 e 22

Options:
2. = LS B

4, » TG

Arithmetic Ability1
Group Number : 5
Group Id : 99836751
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



Arithmetic Ability1

Section Id : 99836757
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 99836799
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9983671811 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in the place of question mark in the following number series?
513, 735, 1179, 1845, 27337

Options:
1. = 3713

7 & 3843

(%]
®
Lad
I
(]
[t

L
i
Lo
|
L
Chy

Question Number : 81 Question Id : 9983671811 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT &7 I e H WeE FEd (7) F T W Feateiad # ¥ Fi9 @ Feea Hwen?

513, 735, 1179, 1845, 27337

Options:



1. & 3713

2. « 3843
3 x 3432
4 » 3756

Question Number : 82 Question Id : 9983671812 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the value of (Jﬁ— xf_d- — vﬁ) —

Options:
1. % 2—+2
2. v V2-2
3. % 2
4, = 2

Question Number : 82 Question Id : 9983671812 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(V8 — V4 —/2) = A= TFaaT gem?

Options:

1. = 2—v2




Question Number : 83 Question Id : 9983671813 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Simplify:

8.7—[7.6—{6.5—(5.4—43-2)}]
Options:
1. v 45

-~
#®
r__H
N

!“B
®
o
Ln

Question Number : 83 Question Id : 9983671813 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

87—[76—-{65—(54—23-2)}] = &= =t
Options:

1. ¢ 45



Question Number : 84 Question Id : 9983671814 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the value of 3 + : ? =3

1
345

Options:
40

1. = 11

46

43

41

Question Number : 84 Question Id : 9983671814 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3+ —— & AT aeT B?

34—
343

Options:
40

1. » 12



16

43

41

Question Number : 85 Question Id : 9983671815 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If one-ninth of a certain number exceeds its one-tenth by 4, then the number is
Options:
1. = 320

7 « 360

3. % 400

A % 430

Question Number : 85 Question Id : 9983671815 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR T TATTT TETT FT Th-AlaT A9, 3T+ THh-gHa 99T ¥ 4 30 g, ar 38 & ohaar 272

Options:

1. & 320

2. v 360



3. % 400

4. » 430

Question Number : 86 Question Id : 9983671816 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The L.C.M. of two numbers is 495 and their H.C.F. is 5. If the sum of the numbers is 100, then their difference is:

Options:
1. « 10

46

-2
&

60

s
%

90

e
%

Question Number : 86 Question Id : 9983671816 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar HEATHT & FYraH WAIGOH 495 3 Agead WRYEAS 5 g Afg wEnsEt & @ 100 § & 3%

= 1 AT Oder gem?
Options:

T. « 10

2 = 46



Question Number : 87 Question Id : 9983671817 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The L.C.M. of two numbers is 1820 and their H.C.F. is 26. If one number is 130 then find the other number.
Options:

Question Number : 87 Question Id : 9983671817 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& FEITHT T IR FATAE 1820 AR AgcdH FAGATF 26 gl PN 344 ¥ Uk FEAT & AT 130
g, dr gulr wear fhaer g2

Options:
1. « 654
5 & 558
3. v 364
A = 548

Question Number : 88 Question Id : 9983671818 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
The two numbers are in the ratio 3 : 4. If their H.C.F. is 4 then their L.C .M. is:
Options:

1. » 48

2. % 42

Question Number : 88 Question Id : 9983671818 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& WEATC 3 : 4 F HNT H §| PN 3AF Agead FAMTESH 4 ¢, A 30 THead FATIEAF fehetall

grem?
Options:
1. v 48
2 x 42
3. = 36
4 = 24

Question Number : 89 Question Id : 9983671819 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the value:

3+03+0334+0:03+04033 =

Options:



1. ¢« 3.693

3. % 0.003693

A % 0.03693

Question Number : 89 Question Id : 9983671819 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3+ 0.3+0.33+0.03+0.033 &7 AT FragaT M7

Options:
1. v 3.693
2 % 0.3693

3. = 0.003693

4. » 0.03693

Question Number : 90 Question Id : 9983671820 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The incomes of Vijay and Niraj are in the ratio 3 : 2 and their expenditures are in the ratio 5 : 3. If each saves ¥ 5000,
then what would be the income of Vijay?

Options:

1. « < 30.000



? % < 20,000

3 x T40.000

4. = T50.000

Question Number : 90 Question Id : 9983671820 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oo 3R IR & 3T &7 3 3 2 7 3R 39 200 & 39 50 3§l I 3AH A W A
=9 T 5,000 g, ar fa=w Fr 37 Faar 82

Options:

1. » ¥ 30,000

2 % 20,000

3 % 40,000

4. =« ¥ 50,000

Question Number : 91 Question Id : 9983671821 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X. Y and Z start a garment business each investing T 16000. After 3 months. X withdrew T 2000, Y withdrew T 4000
and Z invests ¥ 8000 more into the business. At the end of the vear, a total profit made was ¥ 41580. Find the share of
X.

Options:

1. = T 13210

2 % T 11810



3. ¢ 712180

4. = T 14210

Question Number : 91 Question Id : 9983671821 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X, Y 3R Z v #5985 & 7980 4% F § AN 398 F & oF T 16000 Hr ooy Fv e w1 E
SATF IS, X T T 2000 9w o BT, Y & T 4000 39w & B 3k Z & so9w # T ¥ T 8000
fordrer fram) 9§ & 37 &, 3FR T 41580 F Fof T TTod g, A §W AW F ¥ X F fewar e

2rem?
Options:

1. = T 13210
2 % T 11810

3. v T 12180

4. » T 14210

Question Number : 92 Question Id : 9983671822 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of the weights of two friends A and B is 4 : 5. A’s weight increase by 10% and the total weight of A and B
together becomes 82.8 Kg, with an increase of 15%. By what percent did the weight of B increase?
Options:

1. % 17.5%

? « 19%



A = 21%

Question Number : 92 Question Id : 9983671822 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar aredl A 3R B % a9 #1 T 4 1 5 &1 A % I H 10% FT I 9 WA IR B F T T4
# 15% #1 3z 2 T AR 379 Fo7 I91 82.8 kg & AT g1 $H ¥R B F Foief # Fohawy qfcvera &

1= g7

Options:
1. = 17.5%
2. ¢ 19%
3 x 205%
A4 % 21%

Question Number : 93 Question Id : 9983671823 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average of Ramesh’s marks in English and Science is 55. His average of marks in English and Geography is 65.
What is the difference between the marks which he obtained in Science and Geography?

Options:

1. = 40

? % 60



Question Number : 93 Question Id : 9983671823 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3R AR RBe= & @ & 3 & AT 55 8| 3R AT sEie F 38 3R & e 65 81 e
3R & # 3Wh AN TS Il & &1 H I fohaall 87

Options:

1. = 40
2 = 60
3. v 20
4 = 50

Question Number : 94 Question Id : 9983671824 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a class. the average age of 30 boys is 15 years. One boy named Ajit left the class, but two new boys named Vikrant
and Susheel whose age differ by 5 came in place of Ajit. If the average age of all the boys now in the class becomes 15
years. find the age of Susheel.

Options:
1. = 20 years

7 o 15 years

3 % 8§ years



4 = 10 years

Question Number : 94 Question Id : 9983671824 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U e H, 30 FEH H AHa g 15 I 7| T A FE og &, At 3uHr e Famw H Awa
AR gefrer 3 a1 AT w3 AT T=H 37 F A7 FOHA 5 I F o anh of wew F wf w=A B
e a3y 15 3% g, ar gfter & g et 27

Options:
1. % 203y
2 » 15 ay
3 % 8a¥
4. = 10 a¥

Question Number : 95 Question Id : 9983671825 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sarika spends 20% on house rent and 70% on house hold expenditure out of her total income. If she manages to save T
3600, find her total income.

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. ¥ 10.000

9 T 15000

3. ¥20.000



4. < 18,000

Question Number : 95 Question Id : 9983671825 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 39T 3T &7 20% W F o o 3T 70% W F 9 @ W OT Far gl I 3R aua 3
3600 &, & 3T T T T &2

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:
1. 10,000
2 % 15,000
3. % 20,000
4. % 18,000

Question Number : 96 Question Id : 9983671826 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
In a class of 60 children, 30% children can speak only English, 20% Hindi and English both and rest of the children can

speak only Hindi. Find the count of children who can speak Hindi.

Options:
1. 42

48

-2
#®

46

-
%



®
-

4.

Question Number : 96 Question Id : 9983671826 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

60 T==T Fr FaT H, 30% F== FdeT ST 9 FFd g, 20% FEr 3R 34T AT g FEa § AT aE
ST Fae [gar a1 Fhd gl e A Fedr Siee arel sedl $f T Hol bl 87

Options:

1. v 42
2. = 48
3. = 46
4 = 44

Question Number : 97 Question Id : 9983671827 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The cost of the product in year 2018 was I 19.000. Its cost in the year 2019 is I 17,000. Find the percent decrease in its
Cost.
Options:

1. % 12.5%

10%

2

&

9.5%

3.

b

A« 10.5%



Question Number : 97 Question Id : 9983671827 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I¥ 2018 # TF WA I a9d T 19,000 o) 3§ 2019 & sHFHr =g T 17,000 g1 SHWHT WA Shr
ARTT H FoT e Fiaerd N FHAT HE 82

Options:

1. = 125%
2 % 10%
3 % 95%

4. ¢ 10.5%

Question Number : 98 Question Id : 9983671828 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A product was purchased for T 1600 and then sold for ¥ 1400. Find the loss percentage.
Options:

s
1' v 125 ':.I"U

2 14% %%

9w 16% 0%

i & 18% 0%

Question Number : 98 Question Id : 9983671828 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



U WA @ T 1600 & Hed WX @ller T AR T 38 T 1400 % Hew W a9 fG7n o gHE W
forerer Sferera 1 gifer 837

Options:
1gp
1. _"122 Yo

§ o 145%
3w 165%

1gp
4 x 182 Yo

Question Number : 99 Question Id : 9983671829 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A shopkeeper sells a product at 5% profit. If he had bought it at 5% less and sold it for ¥ | less, he would have gained

10%. Find the cost price of the product.
Options:
1. = T 150

3. ¢ T200

A = T350

Question Number : 99 Question Id : 9983671829 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U ZFACN 5% FTH T T HHA 9T ¢ IR 304 39 5% FA W Fdar gar A s/ T 1 A
AT I F=GT, A 3 10% FT HUST BTl TH F 0T AT fohdelr €7




Options:

i & T80
D % 250
3. ¢ T200
4 = T 350

Question Number : 100 Question Id : 9983671830 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The simple interest for 3 years and the compound interest for 2 years on a certain sum at the same rate are ¥ 1,800 and
T 1,248 respectively. What is the rate of interest p.a.?

Options:

1. =

Ln
=]

? #% 6%

3.v 8%

A % 12%

Question Number : 100 Question Id : 9983671830 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

IR T AREd o= X 3 @e & BT aemor s 3R 2 @ F O awgfy sure swaen 1,800
3T T 1,248 §, ar 3l =a=r & oeaer 87

Options:

1. = 5%



2 = 6%

3. v 8%

4. % 12%

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions:

Number of Questionsto be attempted:

Section Marks:

Sub-Section Number:
Sub-Section I d:
Question Shuffling Allowed :

Arithmetic Ability2

6
99836752
0

0
No
No
0
20
No
Yes
0

0

Arithmetic Ability2

99836758
1

Online
Mandatory
20

20

20

1
998367100
Yes

Question Number : 101 Question Id : 9983671831 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sum amounts to T 15,746.40 at 12% p.a. in 2 years, when the interest is compounded 8-monthly. What will be the

: . 3
simple interest on that sum for 5= years at the same rate?
b ]

Options:
1. = T8.280

2 & 8400
3 % 8,500

4 = T8.560

Question Number : 101 Question Id : 9983671831 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

8 AT® TFgIE e o ®T A UH [@¥ad gaier 12% 9 a9 $7 7= a7 & 2 9 & T 15,746.40
& ST ¥ S T R F SO T SIS O 52 st & O @umer o afy R @ete

Options:

1 T 8,280
2 » %8400
3« %8500
A « %8560

Question Number : 102 Question Id : 9983671832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A certain loan has to be returned in two equal annual instalments each of ¥ 11,025, If the rate of interest is 5% per
annum, compounded yearly, then the total interest paid is:

Options:



Question Number : 102 Question Id : 9983671832 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v AP ol & FHor #F v a9 F T 11,025 Fr a7 Trdt H 97 FAr g1 79 A= # &< 5%
gfer a¥ 2, & s &% ¥ A T fraelr TR F sprars O T g2

Options:

1. % £1,450
5« T1,480
3 » 1,550
4 = %1580

Question Number : 103 Question Id : 9983671833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Renu sold two articles for T 967.60 each. On one she gained 18% and on other she loss 18%. Her percentage profit or
loss on the whole transaction was:

Options:

1. » Loss, < 60.40



2 w Profit, ¥ 60.40
3 Loss, T64.80

4. % Profit, T 64.80

Question Number : 103 Question Id : 9983671833 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U] % 9TH & WA ¢ AR 3T & TF WA H T 967.60 HAG T AT TH W 3H 18% FH A T
g 3R qEY W 3W 18% F 1 g5 $W YW v H 3 T b o # AT A7 @i e g%7

Options:

1« @, T 60.40

2 % @, T 60.40

3 o, @, T64.80

4. « @, T 64.80

Question Number : 104 Question Id : 9983671834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
If the length of a rectangular plot is increased by 10% and the breath is decreased by 20%, how much will its area

increase or decrease?
Options:

1. ¢ 12% decrease

? % 12% increase



3. % 10% decrease

4. % 10% increase

Question Number : 104 Question Id : 9983671834 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I T HIOHR Held & wae # 10% $r iy AR Steg 7 20% Fr wAr gt g, O =5 S ee J
T foraer gfaera #r g a1 F#r e
Options:

1. ¢ 12% w0

2« 12% T

3. % 10%

4« 10% 3

Question Number : 105 Question Id : 9983671835 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

25 3 5 7
= x— 2 ==x— = then find the value of x.
10 10 &

-
)

Options:

1. =

| =

-2
8
el



Question Number : 105 Question Id : 9983671835 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

W Zx—-="x— - @, @ x F A o gem?

=T

Options:

1. =

[e=N

Question Number : 106 Question Id : 9983671836 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the area of the rectangle is 60 sq.cm. and its length is 12 ¢m then find its diagonal length. (in cm)

Options:
1.« 13

? % 14

3. % 15

4 w 7



Question Number : 106 Question Id : 9983671836 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofg BT 3T #1 896 60 sg.cm g 3T SHHr F95 12 cm &, aF 38F FHuT Fr oers Gaer geie
(cm #)

Options:

1. v 13
2. u T
3. x 15

Question Number : 107 Question Id : 9983671837 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the area of a triangle is 6 sq.cm and two sides of the triangle are 3 cm, 4 cm. Then find the third side. (in cm)

Options:

1.«

tn

? % 6

Question Number : 107 Question Id : 9983671837 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afg ve e[ &7 &% 6 sq.om AR e & gt sgematt Fr 7@ FA 3 em, 4 cm §, @ $HH
el = F wErs aer @i (em #)

Options:



Question Number : 108 Question Id : 9983671838 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the area of a square if the length of its diagonal is 30 cm.
Options:
1. « 450 sg.cm.

2 x 425sqcm.

2 % 475 sq.cm.

4 = 400 sg.cm.

Question Number : 108 Question 1d : 9983671838 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T TF J97 & TFF0T &7 o9 30 cm g, ar F97 F7 &9%o hgar gem?
Options:

1. «» 450 sg.cm.



2 x 425 sq.cm.

3.« 475 sqcm.

4. = 400 sg.cm.

Question Number : 109 Question Id : 9983671839 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The length of the diagonal of a square is 28 m, its area is
Options:
1. = 239 sg.m

2 % 784 sq.m

3w 293 sq.m

4 v 392 sq.m

Question Number : 109 Question Id : 9983671839 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 T 7 & Fep0T 7 o2 28 m &, a7 SH &%

Options:

1. = 239 sq.m

2 « 784 sqm



3« 293 sqm

4. » 392 sq.m

Question Number : 110 Question Id : 9983671840 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

12 men can complete a task in 84 days. 36 boys can also complete the same task in 84 days. In how many days will 16

men and 15 boys together be able to finish the task?

Options:
1. = 52
2 = 36

4, o 48

Question Number : 110 Question Id : 9983671840 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

12 939 84 & & & FH T H o g1 36 T3 o 36 FH T 84 AT F I F FHA g1 16
TN AR 15 95 TF WY FTH 50 FH F Fo fohaed el H T HET?

Options:
T. & 52
2 = 36



4. v 48

Question Number : 111 Question Id : 9983671841 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Pipes A, B, C and D can fill a tank in 15, 20, 30 and 60 h respectively. Pipe A is opened at 8 am., Bat9 am., C at 10

a.m. and D at 11 a.m. When is the tank filled up completely?
Options:
1. % 2:00pm.

7 % 2:30 p.m.

: 00 p.m.

e
\

4 % 3:30 p.m.

Question Number : 111 Question Id : 9983671841 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

arsq A, B, C AT D & 15, 20, 30 3K 60 & 7 Us & o Whd g1 ST A &I Fag 8 51, B &
TEE 9 71, C # Fag 10 o=t 3R D # gag 11 9=t Tew =" ¢ et o=f 7% &F W RE F W

ST ?
Options:

1. = 2:00pm.

2 % 2:30 pm.

3. » 3:00 pm.



4. % 3:30 pm.

Question Number : 112 Question Id : 9983671842 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A and B alone can do a piece of work in 10 days and 20 days respectively. If they work on alternate days, starting with

A, in how many days the work will be completed?

Options:

Question Number : 112 Question Id : 9983671842 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A HRX B 3 wET: 10 AT 3k 20 RAT & v w1F [ W THd g I 7 IFous T F ww
A &, A T YT Fh, dl FIH BT I A H Fol [ohael gal H HHT N7

Options:

T. = 12
2w 125
3 ¢ 13

4. % 135



Question Number : 113 Question 1d : 9983671843 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A person travelling in a train counts 41 pillars in 2 minutes. If the distance between two poles is 60 m. what is the speed
of the train?

Options:
1' v 72 km'h

? % 73.8km/h

3 # 75kmh

A % 754kmh

Question Number : 113 Question 1d : 9983671843 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fordlt &7 & T I areT U cafed 2 e # 41 we Fear B 3fE & wst & 9= fr gl 60 m g,
ar &= #r oty e 22

Options:

1. v 72 kmh

2 % 73.8 kmh

3. = 75 km/h

4. % 75.4 km/h

Question Number : 114 Question Id : 9983671844 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A boat can go 30 km upstream and 48 km downstream in 5 hours 40 minutes. Also. it can go 12 km upstream and 7.5

km downstream in | hour 37 minutes. What is the speed of boat in still water in km/h?



Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. 12

Question Number : 114 Question Id : 9983671844 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& A9 5 6¢ 40 e # 9T F v 30 km 3R 9Rr & AT 48 km F gl I FT FHAT g1 T &,
IR AT I FRE 2mAR T H IR IS km B g am W o ¢l DR T &
A Fir afF km/h # T 2

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:
1. 12
2. 13
2 1
4. 15

Question Number : 115 Question 1d : 9983671845 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the value of “¢’. If the product of largest 3 digit integer and smallest positive two digit integer we get “c’.



Options:
1. & 10001

7 & 9990

e

3. % 9900

o

A % 9991

Question Number : 115 Question Id : 9983671845 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IfE 3 3T Fr T T FEAT F [IH AR 3 FH T FEE ST GA HEAT F Pk F qUEHA C F,
ar ‘c’ # AT Tohaer grem?

Options:
1 % 1000
2. « 9990
3 % 9900
4 x 9991

Question Number : 116 Question Id : 9983671846 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The bar graph below represents the total number of boys and girls in various colleges. The number of boys and girls is

in thousands. Study the bar graph and answer the following question.

35

A B C D E

®Boys mGirls

Find the average number of girls from all the colleges.
Options:
1 _® 25500

2 % 22500

3. v 27500

A = 25700

Question Number : 116 Question Id : 9983671846 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A e T s ars Rfeew S 7 g AR asfEat # 5 wEar 5 aiar g1 Fs% A asfEar
$r TEI SR H Il 5H S A% F OO ¥ Ue it Fel v w7 3w &

a5
A B c D

» OIS = okl

T Fiar=r S arEfeat fr steg =TT Fadr &7

30

20

10

Options:
1. % 25500
2 % 22500
3. «» 27500
A4 % 25700

Question Number : 117 Question Id : 9983671847 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A school circular ground has a diameter of 72 m. A 7 m wide road runs outside around it. Find the area of road. (in sq.m)

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. 2418



3. 2618

4. 2600

Question Number : 117 Question Id : 9983671847 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U THA F JodHR Held H AT 72 m gl 5HF TR HR 7 m T TEF ) TSF F ST5d e

(sq.m #H) grem?

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.

Options:
1. 2418
2. 2518
3. 2618
4. 2600

Question Number : 118 Question Id : 9983671848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The bar graph below represents the circulation of newspapers in different languages in a city. Study the bar graph and
answer the following question.

Urdu
Hindi
English

Telugu |

Language —>

: T T T T T T
200 400 600 800 1000 1200 1400

No.of New Papers —

By how much is the circulation of newspapers in Telugu more than Urdu newspapers?

Options:
1. & 400

2 % 800

3. v 600

A, % 1000

Question Number : 118 Question 1d : 9983671848 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A T T IR IE U oeY H Rffew gt # A 95t fr @ug Fr 279w £ 9% 9% Foeas
T g2 3t TEaRf@T w7 3ar &

§ 1
|

HYE ——
Al

[0l
ad

200 400 600 800 1000 1200 1400
AR 937 sl g&=ar

3¢ HATEAR THI A oA H o] HATER TH dF Gua e 719w g7

Options:



1. = 400

2 w800
3. v 600
4. % 1000

Question Number : 119 Question Id : 9983671849 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The cost price of 42 pens is the same as the selling price of x pens. If there is a loss of 30%, what is the value of x?

Options:

1. =

Ln
o

n
L

2. %

%
B
L
h

4, v 60

Question Number : 119 Question Id : 9983671849 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

42 FAA! F FF Hed X FAA! & @pT Hed & TAS %Iﬁﬁﬁ;ﬁSD%ﬁ%‘ﬁ%ﬂﬁ?ﬁTxﬂ
7T foraaT 272

Options:

1. = 50




4, v 60

Question Number : 120 Question Id : 9983671850 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The table below represents the classification of 100 students based on the marks obtained by them in Biology and

Physics in an Examination. Study the table and answer the following question.

Subject Marks out of 50

40 and above | 30 and above | 20 and above | 10 and above | 0 and above
Biology 9 32 80 02 100
Physics 4 21 66 81 100
Average (Aggregate) 7 27 73 87 100

What is the difference between the number of students scoring 40 and above marks in aggregate and those passed with

40 and above marks in Physics?

Options:
1.« 3

Question Number : 120 Question Id : 9983671850 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A & T arfore v gl # ST o s oifTdr F 9o e F 3w 9w 100 ot & SeftEwer

T g §1 37 afeer & eure @ 9 3 Seataf@a v # 3eaw &

famar 50 qufies & & orew 3w

40 3T THR 0w | 30 H TWE ¥ | 20 T I HUF| 10 AT IHY | 0 H WA Ao
sha faemer 9 32 20 92 100
sitfer 4 21 66 81 100
Hrm 7 27 73 87 100
(T 3iF)

T 3% H 40 3R 30 30T 3F 9vg = A o F wEar A AfAE F 40 AR sEw 3w =

UToT T IS STEr fY TE ¥ & e e 27

Options:

1. ¢ 3

2 = 4
3, = B
4. » 8

Group Number :
Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :

Break time:
Group Marks:

IsthisGroup for Examiner?:
Revisit allowed for group Instructions? :
Maximum Instruction Time:
Minimum Instruction Time:

General Englishi

7

99836753

0
0
No
No
0
20
No

Yes

0
0




General Englishil

Section Id : 99836759

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 998367101
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 9983671851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate idiom to fill in the blank.

In case you fail to execute this plan of yours. at least
Options:
1. = play ducks and drakes

- b -
? . haveacard up one’s sleeve

3 & keepone at bay

4 % make aclean breast of it

Question Number : 121 Question Id : 9983671851 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate idiom to fill in the blank.

In case you fail to execute this plan of yours. at least

Options:



1. « play ducks and drakes

2  havea card up one’s sleeve

3. % keepone at bay

4. % make aclean breast of it

Question Number : 122 Question Id : 9983671852 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option that can substitute the underlined words in the given sentence.

By agreeing to his unapproved deals, he has feathered his own nest.

Options:
1. » Fallen into a trap

? % Disturbed the work

3 Made money unfairly

4. » Gained respect from him

Question Number : 122 Question Id : 9983671852 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option that can substitute the underlined words in the given sentence.

By agreeing to his unapproved deals, he has feathered his own nest.

Options:



1. « Falleninto atrap

7w Disturbed the work

3. Made money unfairly

4. » Gained respect from him

Question Number : 123 Question Id : 9983671853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option that can substitute the underlined words in the given sentence.

He kept me on tenterhooks for more than six hours.

Options:
1. » Inadifficult problem

7 » Inastate of anxiety and suspense

3 u Veryhappy

4 % Incomfortable state

Question Number : 123 Question Id : 9983671853 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option that can substitute the underlined words in the given sentence.

He kept me on tenterhooks for more than six hours.

Options:



1. » Inadifficult problem

2 » Inastate of anxiety and suspense

3.« veryhappy

4. % Incomfortable state

Question Number : 124 Question Id : 9983671854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for the given phrase.

People with this fear tend to worry about having memories (especially bad ones).
Options:
1. « Mnemeophobia

2 % Nyctophobia

3 w Hodophobia

/. » Geraphobia

Question Number : 124 Question Id : 9983671854 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for the given phrase.

People with this fear tend to worry about having memories (especially bad ones).

Options:



1. » Mnemophobia

2 & Nyctophobia

3« Hodophobia

4. » Geraphobia

Question Number : 125 Question Id : 9983671855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for the given phrase.
One who is incapable of making mistakes or being wrong.

Options:
1. & Indelible

? % Inevitable

3~ Infallible

4 % Infantile

Question Number : 125 Question Id : 9983671855 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for the given phrase.

One who is incapable of making mistakes or being wrong.

Options:



1. % Indelible

7w Inevitable

3. Infallible

4. % Infantile

Question Number : 126 Question Id : 9983671856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate preposition to fill in the blank.

Soil is the most important renewable natural resource which supports different types of living organism’s earth.
Options:
1. & for

Question Number : 126 Question Id : 9983671856 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate preposition to fill in the blank.

Soil is the most important renewable natural resource which supports different types of living organism’s earth.

Options:



T. = For

3. = from

Question Number : 127 Question Id : 9983671857 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate preposition to fill in the blank.

A chemical compound called “Taxol® is extracted the bark of the Himalayan Yew and is used to treat some
cancers.

Options:

1. & in

? # with

3. « from

4 % on

Question Number : 127 Question Id : 9983671857 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate preposition to fill in the blank.

A chemical compound called “Taxol® is extracted the bark of the Himalayan Yew and is used to treat some

cancers.
Options:



2. % with
3. ¢ from
4 = on

Question Number : 128 Question Id : 9983671858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate collective noun to fill in the blank.

of performers.
Options:
1. = A troop

? ® Ateam

3 » Atroupe

A = A collection

Question Number : 128 Question Id : 9983671858 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate collective noun to fill in the blank.

of performers.

Options:



1. = A troop

2. % Ateam

3. A troupe

4. % A collection

Question Number : 129 Question Id : 9983671859 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate collective noun to fill in the blank.
of locusts.

Options:
1. # Abunch

? # A cluster

3.« Aswarm

4] = Ahive

Question Number : 129 Question Id : 9983671859 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate collective noun to fill in the blank.

of locusts.

Options:



1. % Abunch

2. Acluster

3. ¢ Aswarm

4 % Ahive

Question Number : 130 Question Id : 9983671860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate conjunction to fill in the blank.
Girish always procrastinated studying for the board exams he failed.

Options:

1. # however

? % nevertheless

3' % yet

4  therefore

Question Number : 130 Question Id : 9983671860 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate conjunction to fill in the blank.

Girish always procrastinated studving for the board exams he failed.

Options:



1. % however

7w nevertheless

3, % vt

4.  therefore

Question Number : 131 Question Id : 9983671861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate conjunction to fill in the blank.
‘Work hard. no man can succeed without hard work.

Options:
1. & for

? % but

3w also

A = still

Question Number : 131 Question Id : 9983671861 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate conjunction to fill in the blank.

Work hard. no man can succeed without hard work.

Options:



T. «» For

2. = but
3. = also
4 = st

Question Number : 132 Question Id : 9983671862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to fill in the blank.
The train is to arrive at 5 pm.

Options:
1. & schedules

? % schedule

3. « scheduled

/. w being schedule

Question Number : 132 Question Id : 9983671862 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to fill in the blank.

The train is to arrive at 5 pm.

Options:



1. % schedules

7w schedule

3.« scheduled

/. » being schedule

Question Number : 133 Question Id : 9983671863 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to fill in the blank.
The letter I received this morning is from my motherland.

Options:
1. & who

2' « that

3 % whom

4] = whose

Question Number : 133 Question Id : 9983671863 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to fill in the blank.

The letter I received this morning is from my motherland.

Options:



1. = who

?. « that

3. % whom

4 % whose

Question Number : 134 Question Id : 9983671864 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to fill in the blank.
The boxer made a with his right, then followed with a left hook.

Options:
1. & faint

? w fiend

3 x feign

4]  feint

Question Number : 134 Question Id : 9983671864 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to fill in the blank.

The boxer made a with his right, then followed with a left hook.

Options:



1. = faint

2.  w fiend
3. «x feign
4 » feint

Question Number : 135 Question Id : 9983671865 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate conjunction to fill in the blank.
Most of Kerala's based industries are situated in and around Alappuzha.

Options:

1. & coir

? % choir

3 % quire

4 = chore

Question Number : 135 Question Id : 9983671865 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate conjunction to fill in the blank.

Most of Kerala's based industries are situated in and around Alappuzha.

Options:



T. « coir

2. % choir

3. quire

4. % chore

Question Number : 136 Question Id : 9983671866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate prepositions to fill in the blanks.

With more than 100 tiny islands scattered across South Pacific, country of Tuvalu is among the world's

most isolated nations.

Options:
1. » a:the
7 % the; a

3, % aa

4. « the:the

Question Number : 136 Question Id : 9983671866 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate prepositions to fill in the blanks.

With more than 100 tiny islands scattered across South Pacific. country of Tuvalu is among the world's
most isolated nations.
Options:



1. = athe

2 % the; a

4. « theithe

Question Number : 137 Question Id : 9983671867 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to fill in the blanks.
‘Vaccination was in England and the New world was by Columbus.

Options:
1. = discovered; invented

7 % discovered; discoverad

3 invented; discovered

4 = invented; invented

Question Number : 137 Question Id : 9983671867 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to fill in the blanks.

‘Vaccination was in England and the New world was by Columbus.

Options:



1. = discovered; invented

2 % discovered; discovered

3. « invented; discovered

4. = invented; invented

Question Number : 138 Question Id : 9983671868 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given options.
Options:
1. » Had her love being sincere, he would not have given up on her.

2 . Had her love been sincere. he would not have given up on her.

3 » Had her love sincere, he would not have given up on her.

/. » Hadn’t her love sincere. he would not have given up on her.

Question Number : 138 Question 1d : 9983671868 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given options.
Options:

1. « Had her love being sincere, he would not have given up on her.



2 . Had her love been sincere. he would not have given up on her.

3.« Had her love sincere, he would not have given up on her.

/.« Hadn’ther love sincere. he would not have given up on her.

Question Number : 139 Question Id : 9983671869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in passive voice.

The children have broken the window pane.
Options:
1. » The window pane has broken by the children.

? % The window panes have been broken by the children.

3 . The window pane has been broken by the children.

4. » The window pane has been broken by the child.

Question Number : 139 Question 1d : 9983671869 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in passive voice.

The children have broken the window pane.
Options:

1. % The window pane has broken by the children.



2 % The window panes have been broken by the children.

3.  Thewindow pane has been broken by the children.

/. % Thewindow pane has been broken by the child.

Question Number : 140 Question 1d : 9983671870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in passive voice.

We can easily learn everything.
Options:
1. » Everything can learn easily by us.

? . Everything can be learnt easily by us.

3 Everything by us can be learns easily.

4. % Everything by us can we learn.

Question Number : 140 Question Id : 9983671870 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in passive voice.

We can easily learn everything.
Options:

1. ® Everything can learn easily by us.



2 » Everything can be learnt easily by us.

3.« Everything by us can be learns easily.

/.« Everything by us can we learn.

General English2
Group Number : 8
Group Id: 99836754
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General English?2

Section Id : 99836760

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 12

Number of Questionsto be attempted: 12

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367102
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 9983671871 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the given word.

TENSE
Options:

1. + Taut

? % Lenient

3. # Reliable

Ecstatic

&

4.

Question Number : 141 Question Id : 9983671871 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

TENSE
Options:

1. « Taut

? % Lenient

3. % Reliable

4. = Ecstatic

Question Number : 142 Question Id : 9983671872 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the given word.

GLUTTONOUS
Options:

1.« Lazy

2 o Greedy

2w Extravagant

4 % Profuse

Question Number : 142 Question Id : 9983671872 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

GLUTTONOUS
Options:
1. = Lazy

2  Greedy

3. % Extravagant

4. = Profuse

Question Number : 143 Question Id : 9983671873 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the given word.

TERSE
Options:

1. + Incisive

? % Gentle

3. w Diffuse

4 % Prolix

Question Number : 143 Question Id : 9983671873 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

TERSE
Options:

1. « Incisive

7 % Gentle
3. w Diffuse
4 = Prolix

Question Number : 144 Question Id : 9983671874 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the given word.

VILIFY
Options:
1. % Glorify

? % Commend

3  Malign

4 % Cherish

Question Number : 144 Question Id : 9983671874 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

VILIFY
Options:

1. = Glorify

? % Commend

3. « Malign

4. = Cherish

Question Number : 145 Question Id : 9983671875 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the given word.

ALLEVIATE
Options:
1 w Aaggravate

? « ameliorate

3. w fabricate

4 % swindle

Question Number : 145 Question Id : 9983671875 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

ALLEVIATE
Options:

1. = aggravate

7  ameliorate

3. u fabricate

4. = swindle

Question Number : 146 Question Id : 9983671876 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate ANTONYM of the given word.

MACABRE
Options:

1. Ghastly

:

Eerie

/il

#

3. & Cadaverous

4 « Cheerful

Question Number : 146 Question Id : 9983671876 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

MACABRE
Options:

1. = Ghastly

? % Eerie

3. % Cadaverous

4.  Cheerful

Question Number : 147 Question Id : 9983671877 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate ANTONYM of the given word.

PRUDENCE
Options:
1  Stupidity

? w Sagacity

3. & Providence

4 % Wisdom

Question Number : 147 Question Id : 9983671877 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

PRUDENCE
Options:

1. «» Stupidity

2 w Sagacity

3. % Providence

4 = Wisdom

Question Number : 148 Question Id : 9983671878 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate ANTONYM of the given word.

PETULANT
Options:

1. % Snappish

2. » Huffy

3 v Fasygoing

4 % Perverse

Question Number : 148 Question Id : 9983671878 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

PETULANT
Options:

1. = Snappish

2 x Huffy

3.  Easygoing

4. = Perverse

Question Number : 149 Question Id : 9983671879 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate ANTONYM of the given word.

CONCISE
Options:
1. » Compact

? . Unabridged

3. # Condensed

4. % Compressed

Question Number : 149 Question Id : 9983671879 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

CONCISE
Options:

1. = Compact

2 » Unabridged

3. % Condensed

/4.« Compressed

Question Number : 150 Question Id : 9983671880 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate ANTONYM of the given word.

DOCILE
Options:

1. «+ Obstinate

? % Humble

3 x Resigned

4 % Meek

Question Number : 150 Question Id : 9983671880 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

DOCILE
Options:

1. « Obstinate

7 % Humble

3. % Resigned

4 = Meek

Sub-Section Number: 2
Sub-Section 1d: 998367103
Question Shuffling Allowed : Yes



Question Id : 9983671881 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the following passage and answer the questions given

below:

“The Indian subcontinent has a unique geological history that
chronicles rocks and fossils ranging in age from 4,000 million
years old to recent times”, says GVR Prasad, head department
of geology. University of Delhi. Journalist Sanjay Kumar, in an
article for Science Magazine (April 2018), narrated the mcident
when Prasad and his team went hunting for dinosaur nests in
Bagh. Madhya Pradesh. They were threatened by villagers who
assumed they had come to appropriate land. Lack of awareness
and access is one of the many challenges that confront

palacontologists in India.

Doing his bit is Vishal Verma, the physics teacher from Bakaner
High School. Manawar, Madhya Pradesh, says his heart lies in
the discoveries of the fossil-rich Narmada Valley. With help from
municipalities, Verma helped set up a fossil museum in Mandu
and 1s hoping the dream of a national dinosaur fossil park in Bagh
will become a reality. With a collection of over 20,000 shark teeth
and 40.000 starfish fossils, among others, Verma says. “Fossils
are a witness to the planet. It shows us the rhythm of life and
enlarges our perspective. In India, people are not happy by just
seeing a dinosaur egg. They want to know the context, how it
was laid, and how many were there in the nest. Those are stories
the museum should tell. none of which is possible without

people’s participation.”

Preserving fossil material in Indian collections, many of which are
unknown, is another challenge facing experts. Adwait Jukar, Deep
Time-Peter Buck Fellow with the National Museum of Natural
History, Smithsonian Institution at Washington, DC, says.
“Initiatives like The Indian Museum of Earth could be a place
where training programmes could be organised with international
collaboration and people could get technical skills.”



Sub questions

Question Number : 151 Question Id : 9983671882 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following set up a fossil museum in

Mandu?
Options:

1. # GVR Prasad

? w Sanjay Kumar

3.« Vishal Verma

A % Adwait Jukar

Question Number : 152 Question Id : 9983671883 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the age range of fossils that are claimed to be found

in the Indian subcontinent?
Options:
1. » 400 million years old to recent

2 . 4.000 million years old to recent

3 » 40thousand years old to recent

A % 4hundred years old to recent

Question Number : 153 Question Id : 9983671884 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where is Vishal Verma dreaming of setting up a national
dinosaur fossil park?

Options:



1. & AtDelhi

? % AtBakaner

3. # AtMandu

4] » AtBagh

Question Number : 154 Question Id : 9983671885 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Palaeontologists are those who
Options:
1. » travel around the world studying the landforms

2 w study the forms of life that will exist on Earth

study fossils as a way of getting information about the

3 history of life on earth

study human history and prehistory through the excavation
of sites and the analysis of artefacts and other physical

A % remains

Question Number : 155 Question Id : 9983671886 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute

for the given group of words/phrase.

A factual written account of important or historical events

in the order of their occurrence
Options:



1. «» Chronicles

? % Collaboration

3. ® Museum

4. = Geology

Question Id : 9983671881 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the following passage and answer the questions given

below:

“The Indian subcontinent has a unique geological history that
chronicles rocks and fossils ranging in age from 4.000 million
years old to recent times”. says GVR Prasad, head, department
of geology, University of Delhi. Journalist Sanjay Kumar, in an
article for Science Magazine (April 2018), narrated the incident
when Prasad and his team went hunting for dinosaur nests in
Bagh, Madhya Pradesh. They were threatened by villagers who
assumed they had come to appropriate land. Lack of awareness
and access is one of the many challenges that confront

palaeontologists in India.

Doing his bit is Vishal Verma, the physics teacher from Bakaner
High School. Manawar, Madhya Pradesh, says his heart lies in
the discoveries of the fossil-rich Narmada Valley. With help from
municipalities, Verma helped set up a fossil museum in Mandu
and is hoping the dream of a national dinosaur fossil park in Bagh
will become a reality. With a collection of over 20.000 shark teeth
and 40,000 starfish fossils, among others, Verma says, “Fossils
are a witness to the planet. It shows us the rhythm of life and
enlarges our perspective. In India, people are not happy by just
seeing a dinosaur egg. They want to know the context, how it
was laid. and how many were there in the nest. Those are stories
the museum should tell, none of which is possible without
people’s participation.”

Preserving fossil material in Indian collections. many of which are
unknown, is another challenge facing experts. Adwait Jukar, Deep
Time-Peter Buck Fellow with the National Museum of Natural
History, Smithsonian Institution at Washington, DC, says,
“Initiatives like The Indian Museum of Earth could be a place

where traming programmes could be organised with international
collaboration and people could get technical skills.”



Sub questions

Question Number : 151 Question Id : 9983671882 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among the following set up a fossil museum in

Mandu?
Options:

1. % GVR Prasad

2 % Sanjay Kumar

3.« Vishal Verma

4. w Adwait Jukar

Question Number : 152 Question Id : 9983671883 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘What is the age range of fossils that are claimed to be found

in the Indian subcontinent?
Options:

1. % 400 million years old to recent

2 » 4.000 million years old to recent

3. % 40 thousand years old to recent

4. = 4 hundred years old to recent



Question Number : 153 Question Id : 9983671884 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where is Vishal Verma dreaming of setting up a national
dinosaur fossil park?

Options:

1. = AtDelhi

7. % AtBakaner

3. % AtMandu

4. «» AtBagh

Question Number : 154 Question Id : 9983671885 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Palaeontologists are those who
Options:

1. « travel around the world studying the landforms

2w study the forms of life that will exist on Earth

study fossils as a way of getting information about the
3.  history oflife on earth

study human history and prehistory through the excavation
of sites and the analysis of artefacts and other physical

4. % remains



Question Number : 155 Question Id : 9983671886 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute

for the given group of words/phrase.

A factual written account of important or historical events

in the order of their occurrence
Options:

1. « Chronicles

7w Collaboration

3. % Museum

4. x Geology

Sub-Section Number: 3
Sub-Section Id: 998367104
Question Shuffling Allowed : Yes

Question Id : 9983671887 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the following passage and answer the questions given below:

Seamlessness sounds like a great idea but it is also another word for
assimilation. It is also another word that reminds us that the internet,
once imagined as a disruptive force of independent voices and local
collectives is obviously heading (if not already there) for a complete
takeoverby private companies.

We seem to be in the paradox where everyday we have a new app.
offering new choices, new filters, new manipulations. and yet, almost
all of these apps are owned by the same companies. We have arrived
at the moment ofthe ‘same same but different’ where the plethoraof
choices 1s hiding the lack of creative freedoms on the web. The
implications of these are not just about the boredom of our appified
lives but about the politics of control. In closed information-
architecture countries like China. we have already seen what a
monopoly of digital data technologies can lead to: from social-credit
score systems to databases of ‘breed-worthy women’.

It has been the fun (and the racially marked prerogative) ofthe global
West to mock China and its curtailing of civil liberties and exercise of
control. Most digital media outlets have encouraged this trend of
settingup Chinaas the laughing stock while the same happens to our
global internet landscapes. Despite the continued reporting on data
breaches, security overrides, and blatant exploitation of our digital
practices. we continue to believe in the emancipatory potentials of the
web, while turning a blind eye to the silent control of the technologies
we use at the level of hardware, software, standards, protocols. code,
and usage.

Sub questions

Question Number : 156 Question Id : 9983671888 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

PARADOX



Options:
1. » Juxtaposition

? % Contradiction

3 » Quandary

4 « Truth

Question Number : 157 Question Id : 9983671889 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that gives the correct meaning of the given
word.

PLETHORA
Options:

1. + Overabundance

? % Want

4 % Waste

Question Number : 158 Question Id : 9983671890 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why do the global west countries mock China?
Options:
1. » Because it creates new apps every day.



? « Because it restricts civil liberties and exercises control.

3w Because itis creating new filters daily.

/. » Because it provides free data.

Question Number : 159 Question Id : 9983671891 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does ‘our appified lives’ mean?
Options:
It means that we are making our lives like apps available

1. » Uusing play-store.

? w Itmeans that we are bored of apps.

3 It means that we are using too much of mobile apps.

/. % Itmeans that we are creating new apps.

Question Number : 160 Question Id : 9983671892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to fill in the blanks.

Despite everything. we continue to believe in of
the web.
Options:

1. & social credit score

? w databreaching



3 security overrides

4. » emancipatory potentials

Question Id : 9983671887 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the following passage and answer the questions given below:

Seamlessness sounds like a great idea but it is also another word for
assimilation. It is also another word that reminds us that the internet,
once imagined as a disruptive force of independent voices and local
collectives is obviously heading (if not already there) for a complete
takeoverby private companies.

We seem to be in the paradox where everyday we have a new app.
offering new choices, new filters, new manipulations, and vet, almost
all of these apps are owned by the same companies. We have arrived
at the moment ofthe ‘same same but different’ where the plethora of
choices 1s hiding the lack of creative freedoms on the web. The
implications ofthese are not just about the boredom of our appified
lives but about the politics of control. In closed information-

architecture countries like China, we have alreadv seen what a

monopoly of digital data technologies can lead to: from social-credit

score systems to databases of ‘breed-worthy women’.

It has been the fun (and the racially marked prerogative) of the global
West to mock China and its curtailing of civil liberties and exercise of
control. Most digital media outlets have encouraged this trend of
setting up Chinaas the laughing stock while the same happens to our
global internet landscapes. Despite the continued reporting on data
breaches. security overrides. andblatant exploitation of our digital
practices, we continue to believe in the emancipatory potentials of the

web, while turning a blind eye to the silent control of the technologies

we use at the level of hardware, software, standards. protocols. code,

and usage.
Sub questions

Question Number : 156 Question Id : 9983671888 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.

PARADOX



Options:

1. & Juxtaposition

7. % Contradiction

3. % Quandary

4. « Truth

Question Number : 157 Question Id : 9983671889 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that gives the correct meaning of the given

word.

PLETHORA
Options:

1. « Overabundance

2 = Want
3. % Need
4. = Waste

Question Number : 158 Question Id : 9983671890 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why do the global west countries mock China?

Options:



1. = DBecause it creates new apps every day.

7« Because it restricts civil liberties and exercises control.

3 Because it is creating new filters daily.

/. » Because itprovides free data.

Question Number : 159 Question Id : 9983671891 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does ‘our appified lives’ mean?
Options:
It means that we are making our lives like apps available

using play-store.

15

b

2 % [Itmeans that we are bored of apps.

3. [tmeans that we are using too much of mobile apps.

4. « It means that we are creating new apps.

Question Number : 160 Question Id : 9983671892 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to fill in the blanks.

Despite everything, we continue to believe in of
the web.



Options:

1. % social credit score

2  databreaching

3. w security overrides

/. emancipatory potentials
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Question Number : 161 Question Id : 9983671893 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & frg aeg & a0 3= 82

Options:

1. » 3MWiEG

4. v B

Question Number : 161 Question Id : 9983671893 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafof@a & frm aeg & ao g &7

Options:

1. » 3mafErE

? x UHOH

4, v ==

Question Number : 162 Question Id : 9983671894 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Prafafea 7 @ 5y asg & 37 4= 82

Options:



Question Number : 162 Question Id : 9983671894 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Frafafea 7 & FE asg & 9= = 87

Options:

1, « ST

2. v A

Question Number : 163 Question 1d : 9983671895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TegATToreh 9TeC 3T Har 39T FIT 872

Options:

1. % THHRT



Question Number : 163 Question Id : 9983671895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'TegATioreh e T Tar 39T &7 87

Options:

D. & IR

Question Number : 164 Question Id : 9983671896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HeglE ueg H T T T &2

Options:

1. v FHAURT

Z&HFCRT‘SF



Question Number : 164 Question Id : 9983671896 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Heafe o F FiF T FAW 2

Options:

1. v HEURT

2. & TS
3. & HegOHE

Question Number : 165 Question Id : 9983671897 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HiT T oreg ITH 27

Options:

9 . HaHs, dEA, FHErE,

3 IS, Tk, IHA, AT



4 » P, FEH, AT, oa9
o - fa

Question Number : 165 Question Id : 9983671897 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FA T oeg FoT@H &7
Options:
1 TG, THET, e, FID

2. % Tams, Tad, fFars, #94

3. o ®ISH, T, TAA, AT

B, e, Ao, ogeT

o
$}

Question Number : 166 Question Id : 9983671898 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feaff@a & =g @1 a9 oot & 872

Options:
1' % e M, ‘H.%! Hd:l’dl-lf

9 T, aftes, AfAs

9 » TR, wfdsm, woter

4 = gfe, 3eard, IR

Question Number : 166 Question Id : 9983671898 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
AT & Fi9 I@1 I Rt #7782

Options:

1. i W,H%,W

2 o T, afte, AfAS

3« foREER, wfasm, #gwE

7 gfE, 3eord, TR

Question Number : 167 Question Id : 9983671899 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ffoa=ar g fFF gHR F7 fERwor §7
Options:

1. » TFd I=H
7 % YRUTH IR
9 , TOT A

Question Number : 167 Question Id : 9983671899 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Wammmmﬁﬁw%?

Options:



3. v T '
4. = 3 !

Question Number : 168 Question Id : 9983671900 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=T 7 ST I e F9vor 7@ &7

Options:

1. = SITElA

Question Number : 168 Question Id : 9983671900 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=T 7 ST I e F9vor 7@ &7

Options:

1. « mEm



Question Number : 169 Question Id : 9983671901 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e & FEeoa: erser & o fuor e MR WX 2T £2
Options:

1, » 9o &

2. % T &

3 % TIaTH &

4 AT &

Question Number : 169 Question Id : 9983671901 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fBar # AT =ar FT forer muor Fges 3R 9T 2T 87

Options:

1. = fo2wor &



Question Number : 170 Question Id : 9983671902 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

He + 39 H TWE WY FAT FE?

Options:

1. = H=Aag

2.J3-T%IT-[

Question Number : 170 Question Id : 9983671902 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 + 59 @ TEr /Y FAT grEm?

Options:
1. = EIEEr]
2 » Head



Question Number : 171 Question Id : 9983671903 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

= eeg & e T T B2

Options:

1. v Heoda

Question Number : 171 Question Id : 9983671903 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T g F FiAT TT TATT 22

Options:

1. v HcgaeE



Question Number : 172 Question Id : 9983671904 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEAr e [T caTeRtioTE SIfe #T e &7

Options:
1. = W3

3w HTFETEE Tl

4 & ICE 1

Question Number : 172 Question 1d : 9983671904 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS g TORE SIS0 FIE T e 87

Options:
1 - w

2 = T TaewoT

Question Number : 173 Question Id : 9983671905 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S AT AFEY H W@ Al @ § ohg AT & 30T FE @ 30 T FEd 87

Options:




Question Number : 173 Question Id : 9983671905 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S AT sEEty # e At g € Thg A & 3 JE @ 39 O FEd 82
Options:

1a¢ﬁ'ﬂw

2. v o=

Question Number : 174 Question 1d : 9983671906 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"B @ EEr ARNE T FEdr g7 56 HUST H Far WY 272

Options:

1 = e ot FTH FE FET AR




9 T FE THEAS FE ST & @ g
o T B v g T s S

A « TF Y FH A J TF A FATA1 A 8l

Question Number : 174 Question Id : 9983671906 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"B @ EEr AR T GEdr 87 56 FUS H Far WY 272

Options:

1« forer ety w1 @ e =ifgel

2y 9 FS TG 7E o Jr TE g gl

3. » TSEEel T e # e wifew semer e

4.« TUH WY FH A H TF 390 AFH Hd gl

Question Number : 175 Question Id : 9983671907 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"FTHT I FIEHT Fel [ToTH" TFT H FHAT Y g7

Options:



3. x [EewU-cgEEdr g

4. v FREHT RET a9

Question Number : 175 Question Id : 9983671907 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"g=IT I FIEHT Fel @A ITFT H FE Y 872

Options:

1%@%“

5 ferUTEE A

3« ferUrEEEr

4. » FRHT T AW

Question Number : 176 Question Id : 9983671908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"SFaR FI ORI ZEll Y AT g, T T AR FE oI AT AT g7
Options:
1. » s s



A, « Thdarges T

Question Number : 176 Question Id : 9983671908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"R FI ORI @l FY gEare ¢, A Wl 99N ag @R BT a9 g7

Options:

1. =« @& a=g

7w Ol 9=y

3 & \H*_i_ﬂ'd CIEE?

A« Thdaraes T

Question Number : 177 Question Id : 9983671909 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"t Her S §, 3e T o8 & I wiF o 9ew 22
Options:
1. v &1 s

4

9 . TEH T

a

Question Number : 177 Question Id : 9983671909 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
"F Hrer AT §, 3o T gUE 9 £1" BT @ I 22
Options:

1. v B aew

2 & Hfi__'ﬁhd CIER!

4.« HATACHS T

Question Number : 178 Question Id : 9983671910 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar oregr, JTFATAT IT AT T I 3STT FAT Fead 27

Options:

1. » TEAwlE Sus

2. v HEF!J-:EII! W

3. & HFEY SreeR

Question Number : 178 Question Id : 9983671910 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar oTsaT, STt IT TTEET &I THe=T Irer 30T FT Feolld 27

Options:




2 TH=IT aUF

Question Number : 179 Question 1d : 9983671911 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"TFE T IF FISASAT F TI8aAT US| $H A H FHiA € HYFT 72

Options:

1 = mﬁrmﬁ

9 Jﬁﬂﬁ'&ﬁﬁ
3 ﬁﬁﬁmﬁ

4. % mﬁmﬁ

Question Number : 179 Question Id : 9983671911 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"JFe Tl FHiSASAl H 5T TSN FH g H FiT A iy 37

Options:




5 ¢ a?a?-r#rmﬁ

5, A e

Question Number : 180 Question Id : 9983671912 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"SH Hod ¥ Thare g1 el aww & few g @ iy 32

Options:

1 » [PAfERINOT ST FfE
Zﬁﬁéﬂmﬁaﬁﬁ

A = farerwor Feelr sryfe

Question Number : 180 Question Id : 9983671912 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"SH Hod ¥ Thare g1 el aww & few g @ iy 32

Options:

. 8 forar-faeteoT & srerfE



General Hindi?2

Group Number : 10
Group Id: 99836756
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi2

Section Id : 99836762

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 12

Number of Questionsto be attempted: 12

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367106
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9983671913 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A TT Aeg ' FT TS U, Fer g7

Options:

1. » A



4, v 3O

Question Number : 181 Question Id : 9983671913 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Wi T ofeg "JE" o1 TATETEN UAeq Al &7

Options:

5. & B
3 & ufEr
4, v HION

Question Number : 182 Question 1d : 9983671914 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FiT T Aeg 'UT FT IS Aec, Fel &7

Options:

1,@3%3!'&'

7 o 3ohrE



Question Number : 182 Question Id : 9983671914 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HiT TT A 'OT FT TATIET A Tl 87

Options:
1. = oo
2. v I
3w HEA
4, = @pa=

Question Number : 183 Question Id : 9983671915 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aftsm At ‘gur 2= & T ggEa @ arer g &
Options:

2. v &I



Question Number : 183 Question 1d : 9983671915 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aftsm A ‘gur g & T ggEa @ aer g §:
Options:

1. = el

2. v T3

Question Number : 184 Question Id : 9983671916 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FIT T e "IEF" F TIESET U 27

Options:

1. » 8

Question Number : 184 Question 1d : 9983671916 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



FIT T e "IEF" F TIESET U 27

Options:

1, « FEE

2. % ©H9E
3. » w9
4, » 3

Question Number : 185 Question Id : 9983671917 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TIeE UEE H TG e FAT 87

Options:
1 » 2

2. v &€
3.« o

A = UATETF

Question Number : 185 Question Id : 9983671917 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEeg U H TAIAET S FAT g7

Options:




Question Number : 186 Question Id : 9983671918 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FleT T oee-TeH AAIH qeE F AIAH ALl &7
Options:

1 = ﬂwﬂﬁi-m{gq

D, % HHYUT-TIeyoT
3, v AR

4. = difrs-3rdifes

Question Number : 186 Question Id : 9983671918 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FIT T oTeg-gH A g F haF Fg 87

Options:




3, v A

Question Number : 187 Question 1d : 9983671919 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pl W Aee-ToA [ eleg & 30T 7 272
Options:

1, i WY

7w ra-Afeg

Question Number : 187 Question Id : 9983671919 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FlT BT oee-T7H TAAIH Meg FT 3EEI0T e &7
Options:

1, & WESEE

o I foreg-faferea



Question Number : 188 Question Id : 9983671920 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT FT FEH e F4T B2

Options:

1, » IoE
Z,Jﬂ'ﬁ?ﬂ'

Question Number : 188 Question Id : 9983671920 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TRFAT FT T =g FAT B2

Options:

1, & WH

2\,—'3['1%1??



Question Number : 189 Question Id : 9983671921 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'IATETS 9EE &7 TaaTH Ireg FT 27

Options:

4] o AR

Question Number : 189 Question Id : 9983671921 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'IATITT e T AT U FAT 27

Options:
1_ % oheldld
2 = Al

Question Number : 190 Question Id : 9983671922 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

'S 9Teg FT TSIH A FT 87
Options:

1. v I

Question Number : 190 Question Id : 9983671922 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'3 9Teg & T9aIH g FIT 87

Options:
1. v 3
72w TEA

Sub-Section Number: 2
Sub-Section 1d: 998367107
Question Shuffling Allowed : Yes

Question Id : 9983671923 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)



Question Label : Comprehension
frfaf@a sgamer & 9¢ 3R fow a1v weat & 3 g

HY HATSS afea Fr JFTT 3agsar g Fiis 305
aRT SiEa F T amEeTs e ueg @ I g
qAT TUT WEIAT ST & IRRufadt A Fy v gu
& WA TEAT 2, 3o Had Tgr ¢ F v Y # ma
W & WU od FT i dr afEdg | AR § ok
et # g@ @ gEl & wAe e w5 Ater gae
Fr T &ar Jar g1 g9 fr Tl 7 afta = 39ger
=T Rt @ B 7 A o g vy wAw A
AfFT FT IITNRT FT S AF g FAS 39 FSEar #
Yl FI, I1¢ 9 T g IS Fed, g@ & wu
TAE & ¥ AT &9 9§27 GHST F1aT 2

Sub questions

Question Number : 191 Question Id : 9983671924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Y HASF AT & HiAGd HTeTRaT &7 g2

Options:

1 « FiH SH 98 I AF-HFATS T2T 2l

7w e 9 T &7 GATH FT HIAT AgT AAST gl

FiTeh HY @RI FHad I HERIHATT T &
3. v T g

A = Fif HY & HAT § e H HET 3297 2l



Question Number : 192 Question Id : 9983671925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FOIaT HIT F¥Oar HF 47 HaT 87

Options:

1 » TORET AR FEIAr v & e & A 96 E

TAT A W Fiad gdr § AR FETar gar
7 #E,:{'E“l?ﬁ%’I

LT gH ATFARTET §aT & AN "EIar gH

3 » FHEAN FAr gl

FEAT FosT H1 Tl g § FafE Fmar
4. o~ TH Awled & A g

Question Number : 193 Question Id : 9983671926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HAS N @ & W= @l o AT & H
FOr Ao =fge?
Options:

FOISF FATS &r TI& T Taa 3T & e &r
1, WTEg &

FIfeh FAH T ¥ 7 Ao W WER 3¥
2. % M

ﬁ%wﬁmmwmmaﬁw
3. % €l



4« TS TAS F § G Afcihal ol gl

Question Number : 194 Question 1d : 9983671927 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

G H WHA & AW [ @ w4 H/ET g2
Options:

1. » TEIT T H AAAT-AT F TSI &7 A1

grEE ox 9 3T g T & o mEe
9 » HEFR B

TrEIT AT, AU AHE F
3 FTATER FUs 9ed g J1Ev

4« 5T T Fr =aEgeT gFEIer &7 &

Question Number : 195 Question Id : 9983671928 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e H=oe #1 394Fd N FAT g
TgT?

Options:

1. » AT H JrEEHAT
7 o TRl AR FeSAAdr



Question Id : 9983671923 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension
frafef@e sreaner & 9¢ 3 Re 71w goat & 3¢ &

T OTATSS Oiad @ JAATT JE 0T ¢, Fie 385
AT S & AT AEgF grEE 9ea @ R g
ST TUT WEOAT S gr IRITufadt #H AT e W
& G TEaT g, 3R Faa T ¢ v T # e
W & AT Jod FTe =Ofed & afed 9T R 7 Ak
T H gE # A F AR @ # HUER §AS
#r "7 T Sar &1 gewar fr Ty & afFq v seme
cafeaera fgar & & Afga o1 g v AT A
oI &1 ITLET AT Tastaeh gl THATSH HI9T TWerar §
Sl &I, I¢ 9 HS 2 U Few, g & "o
THE & ¥ f3aflg &= 9T sre7 gH7= S gl

Sub questions

Question Number : 191 Question Id : 9983671924 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Y HANSF AT T HiAard HTeTwar 31 67

Options:

1« AIh S8 & JF AT AA-HFAA a2 gl

5 FITeR O ¥ &7 FHAS F JIAT AgT FAST 2l



FhITh Y ZART SNaa I HERTHRATT I &
3 o THar gl

4 u Fifeh Y F e &1 SN H &I 3837 ¢

Question Number : 192 Question 1d : 9983671925 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FoaT T geUar H 47 397 27

Options:

1 a1 3R war o & e F O 9 o

FIAT HcH & *iad gl ¢ 3R Faar gar
2 % ﬁfﬂ'ﬁsﬁfﬁ'l

AT BH AT AT & AT gEuar g4
3 FAARX FAT E

FETAT FST H Farf aA € Fafe wema
4. » ETH SFlga ® SEdr g

Question Number : 193 Question Id : 9983671926 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HATS T @ & W @l & AT & H
¥ fAes =rfRge?

Options:




FITeh THATA T IEAT Ta A 9 &
1 o TTEAETE

Fifeh AT & § 7 FHed W RER @39
2. « M

Fifer GE F T WA 9T FATS 1 HOHR
3, » ¢

X s FaOifer AT %Iﬂhﬂﬁﬂﬁmﬁm%i

Question Number : 194 Question Id : 9983671927 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

G H FAA & TAW S § w2 AT g2
Options:

1. « @ geft & Se-ATT # e & A1)

e 9T 9 3 geaa el & v gAe
2P % Ebeorded

[IHEET FHT-THE, THUT-AEL S F
Ao AR sTeR 9ed g Tge

8 ia @ R T sgfFaea FEr Ja 2



Question Number : 195 Question 1d : 9983671928 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39ged HJ=og &1 39gFd MNF FAT gar
TgT?

Options:

1. = AT Fr srEfEear

2. v FRAT HR FoAAaT

3. % fFeer 3T gaa

Sub-Section Number: 3
Sub-Section Id: 998367108
Question Shuffling Allowed : Yes

Question Id : 9983671929 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



e Ao@a TIe@mer & 9¢ 3R U 71T 92af & 3o} &

U R @ WY FT gAY AT W § S gA H#aw 18
TheT & & Fie g4 3T g a1 a7 ol R &
AT o= T5aT 8, T UF AN HT AT FEA AN 8 g g,
ST AR & 919 # FW 1@ §, Fie CEr g F F A
g 3R FIg fAg=or war § Ak 7 g v #15 weEw
Edr g1 aar et # 57 919 F1 97 Ear g, 3u
9T TR A Tg FA Far | R Ay wme A
3% Y9 IHERUT AR TEHE A & Fo off o= 3R
HTEUTA FE&I FA| F FHA TF & HTO! AFR I
farearw ST & 81 gHAE R, aqea &, 9Er W
TGS A TR - & & IR w ol F dwew S
TEICT IF AT o gl Feargury AT sea fr v 3wy
g, g e e O Og amr twer =fer & ¥ 3eaA
FERRT ® §H TE H, amt AR IR & g s, gAn
Hd, SrEEdT 3R AU & 9H T T HET T &H
galcaTied g, a9 &H 3cargd |

Sub questions

Question Number : 196 Question Id : 9983671930 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

= &7 $r wEr o F9r & 37 @ 27

Options:

1 = ST g H gAY W T
? ST g@ H AN WEraar Y

3. v S HERRT ¥ §H TE WY 3R &N & =



4 « AR T F FER

Question Number : 197 Question Id : 9983671931 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BT 99 § g g5 FIT FIaT AMgT?

Options:

1 « 30F TATT 19 T ST HT AT

5 & 9@ 3mRur, Tmae HR 9T | FER
? hddl EIiEEI

9, U AYAT FEA F FEA FIAT AT

I8 A g1l & F @A @, I8 =R

/. % T EIET

Question Number : 198 Question Id : 9983671932 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"rearaaE BT SiEa &7 3w g1 =7 9fE
ST FT 7T g7

Options:

HEITY 9raT # By gAY o gar ey

BT & o & 17 J J97 & J=o7 BT
2 x BT gl



3 « = BT & #Agg HLaT ¢ T8 FegEay @ gl

Hiwfer Fr g BT & g7 W, 91 3k
4 o IEETTUCT F FROT H HEROT FA E

Question Number : 199 Question Id : 9983671933 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

B 590 8T 3¥ET g9 +9 491G T o 27

Options:

ST 3TH & H & Hems Fr vgiea @ gF
1. =« 39 7= o &l

S 38% FEAW wed AR FAF TIER W &H
3 o faearw &% o=

s e g, e s gw A & o @+
4. » FEEHT F A 2

Question Number : 200 Question 1d : 9983671934 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SH =g # Wil T 39gFd ofive a1 @
Hehar g7
Options:

1. v BF : ofF=ar ik #7ver & ww



9 CER g |

A x BT S F @

Question Id : 9983671929 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension
afo@a sreamer & 98 3R ’w 71w w2at F 3o} 3

TH FARI FTOHY FT FAN AT T § S FAE HOw T8
Thed & ¢ Fieh g5 3eTh gX 10 &aT fhar Oy &
AT ! I5T 8, W U SN F WY HEm AT o g g
S ZAd & 99 B T @S §, F el g A A A
AR IR FI5 ATI0T Tar 7 3R 7 g B F15 wm
T g1 ST JFEmt # 3% 979 #7979 BAT g, S
qaT R AT sgd HH T ARCT: IR ER I
IS I IEROT HRY T I T F o e sk
HAHUIT FEI | F IHA W ad HB! AT U
Torears ST S §1 EEAW eV, aqEd @ g, O &
TGS AT FEH - F & & IR a1 AT H G@EHL AT
TTUC IH HIAT o g1 Fearmay AT Fea Fr v s
g, & 3 e O Og 3mr @ =nfge & ¥ 3eaH
FERRT ¥ &4 T e, a3 Jfeat & g7 799, gAn
Fea, gfaar AT #AEr & 97 T FE7 AT §H
galcHTTed &eT, 99 g5 Scargd ST

Sub questions




Question Number : 196 Question Id : 9983671930 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

== 3T & g afemwr a1 & 31 gEar 27

Options:

9 ST g@ H AN WEIAT

3, v I HEERT ¥ gH TE H AR ST ¥ T

4« AR T F FEER

Question Number : 197 Question Id : 9983671931 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BT 59 § 98 g8 T FIAT TMeT?
Options:

1. » 3HF TANT G T AT FIT AT

T & g3 o, T Al 3fe w REw
2 T =g

3 . mmwmﬂm-ﬁm FI{AT T

I gAY Al FF FR @ g, Ig e
A % AT =G



Question Number : 198 Question Id : 9983671932 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"eargay BT Sfae i siwey 21 =@ 9
T T HYT F7?

Options:

HTITY 3gE H AT gAY O gar sudey
1. = T £

BT & g9 H 17 M I6m & J=oT Ay

3.« o BT Fr Agg Far 8 9@ FeEway g gl

Hufer &1 R BT off ga &y, o7 3R
A o IFESEIA F FROT F FEIROT A 2

Question Number : 199 Question 1d : 9983671933 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 999 AT 3FET gH F9 oI G o 872
Options:

9 3§ & & & e & g9 # am

1« 30T #F= a3 2l

59 &7 gErT &1 7% e ¥ g6 AR &



S8 38% FEAE Wel AN FAA TEER W EA
3. o fEw =2 o gl

w& e @, e s gw B & o @
4 x HASET F 3T gl

Question Number : 200 Question Id : 9983671934 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SH HeJ=og #1 WlH T 39gad f¥E =T @
HehaT 27
Options:

1. » &7 : ofasar 3R ae & B

9 % GESEIREIE]

3. = 3 = wuaw

4, = ﬁ?aﬁra‘rmaﬁm



